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Which mixture of the solutions will lead.t6 the
formation of negatively charged colloidal [Agl]I~
aol. 7

1)  50mLof0.1 MAgNOz+50mLof 0.1 MKI
@  50mlof 1M AgNOy+50 mL of 1.5 MKI
@ 50 mLof 1 MAgNO;+50mLof 2MKI
4 .50 mLof 2 M AgNOy+50 L of LEMKI

The biodegradable polymer is :
(1) Buna-S '

(2) nylnn-ﬁ i :

3 nylon 2—11}71011 6

_(4) nylon—

Which of the following is incorrect statement ! 2
(I)  SnF,isionic in nature

) PbF,is covalentin nature

@) SiCl,is easily hydrolysed

(1) GeX, (X=F, Cl Br, I) is more stable than

The correct structure of tribromooctaoxide is ™

QO
0% E oo @™ o
B O;Er — ]?1:1‘ — %‘1(‘}— O
o
0
.O% T 2
O=Br-Br—-Br=0
@) o’ ur 50
O
0O
D% I F e
6) ngr’_]?""%i}io
o
O e
O% - /0
@ ?.0?“1?;1' Bfo_.o
O
For the cell reaction

Fedt{ag)+ 21~ (aq) = 2Fe2* (ag)+ Iy(aq)
Eceli_ 0.24 V at 298 K. The standard Gibbs

energy (4, G®) of the cell reactionis:

[Given that Faraday constant F = 96500 C mol ™ 1]
1) 23.16kJmol™!

@ —46.32kJmol™}

(3) ~23.16kJ mol ~*

@  46.32kJ mol~?

]Englismhssa:mese[ g

m@@mﬁmﬁmﬁwwwwﬂ@a
[AglI~ Wﬁf@aﬁav

(1 0.1MAgNO350mL +0.1MKIF50mL
2 1MAgNOﬁ‘50mL+15MKIa'50mL
(30 1MAgNO,;¥50mL +2MKIF 50 mL
(4 2MAgNO,;%50 mL +1.5MKI-F 50 mL

®»  F-s o

(2) AizeF-6, 6

@)  FRER 21 6
@  TREH-6

RS @0 SRR OfF 7

(1)  SnF, SR o S
@  PbF, 5Ifad OIS |
@  SiCl, LS ST PG 95 |

‘@ QeX, X=F, Cl, Br, ) 7 GeX,o0® @&

R |
B SR SIS W% S T
0_ ;
0% | //0 '_
A 0=;3r*]?rrﬁr—0
O
O 01~
O=Br-Br—Br=0
@ 0/’ v §0
O
0.
0% i v
O=Br—Br—Br—0
® "7 L g
0O
O
_0% I -/O
O0—Br—Br-Br=0
CY -’ : nr \10—
O
ﬁﬂﬂﬁﬁ@m

Fe3+(ag) + 21~ (aq) — 2Fe* (ag) + Iy(ag) IFINC
2981{'@&3‘1' S ESy = 0.24 V | (B Rferaior o
Prg*fF AG)TA:

[Fl e (TIC $a9 F = 96500 Cmol ™ |
1) 28.16kImol~!?
@  —46.32kd mol” L

@ —23.16kJmol™?
@  46.32kJ mol™ !
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3

Rb

6. For the second period elements the correct e oAy (wné’r) EAIeFs 94T WTAeas
1ncreasing order of first ionisation enthalpy is : TR ,
w SEA BT R ¢
() Li<Be<B<C<0O<N<F<Ne (1) Li<Be<B<C<0<N<F<Ne
2 ILi<Be<B<C<N=<O<F<Ne (? Li<Be<B<(C<N<QO<F<Ne
3 Li<B<Be<C<O<N<F<Ne 3 Li<B<Be<C<O<N<F<Ne
4 JTi<B<Be<C<N<O<F<Ne @ Li<B<Be<(C<N<Q<F<Ne
7. The correct order of the basic strength of methyl TAY TEe s Afssifs GNTEA (FA0IF FITRT
substituted amines in aqueous solution is : i
AYETSI W THCOT T ;
(1)  CHgNH, > (CHy),NH > (CHy)3N ()  CHyNH, > (CH,),NH > (CHy),N
(2 (CHj3)oNH > CH3NH, > (CHjy)3N @ (CHy,NH> CH NHE > (CHg),N
3  (CHy)gN>CHgNH, > (CHg),NH 3  (CH,),N > CH,NH, > (CH,),NH
(49)  (CHy)3N>(CH,),NH > CH3NH, 4  (CHy),N>(CHy),NH > CH,NH,
8. The structure of intermediate A in the following oHe mar RfEIsrs Ihast ‘A’ § S59T0T
reaction, is : 5 :
CH,
CH/ OH

3
CH/ ~ OH
\CH,
0 + ' -)OL
2 H™
—> A — >
H,0 + HgC CH;

CH,-0-0-H CH,~0-0-H
HC c/
™ CH, AN CH,
(@) 4}
CH, Ly
y3$
O ’C}? 0"’0\
CH, CH,
@ (2)
. CH

H,C—C~0-0-H

" Q)

CH, . ks
0-0—CH 0-0- CH
CH,

| !
© @ CH;

o @
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R5

10.

11.

12,

pH of a saturated solution of Ca{OH), is 9. The
solubility product, (Kp) of Ca(OH),is:

1) 05x10-10
@ 05x10-15
8 025x10—10
4 0.125x10~15

A gas at 350 K and 15 bar has molar volume
20 percent smallex than that for an ideal gas under
the same conditions. The correct option about
the gas and its compressibility factor (Z) is

(1) = Z<1andrepulsive forces are dominant
2) . .Z>1 and attractive forces are ddm_inant
(3) Z>1andrepulsive forces are dominant

(4 Z<1and attractive forces are dominant

Which of the following reactions are
disproportionation reaction ?

(@ 2Cut — Cu2* +Cu®

) SMnO} + 4H' — 2MnO] +MnO, +2H,0

(@ 2KMnO, 4, K,MnO, + MnOjy + O,

@  2MnOj +3Mn?* +2H,0 — 5MnO, +4H®

Select the correct option from the following :
(1) (a)and (d)only.

(2) (a) and (b) only

@ (a),(b)and(c)

@ (a), () and (D)

Enzymes that utilize ATP in phosphate transfer
require an alkaline earth metal (M) as the cofactor.
Mis :

1 Sr
@ Be
3 Mg
@ Ca

10.

11.

12.

|English+Assamese|

Ca(OH), T 9T 519 W@ pH A9 | Ca(OH), I
TRTST BN (K ) X' :

() 0.5x10710
@ 05x10°15
3 025x10"10
@ 0.125%x10~18

350 K S16! 1 15 bar 51976 «T (sieg 9iF Swmwt
I BI91S BT T (127 STOTOLP 20 TSI 3 |
(SIRCBT SN 319 Ter@isiae! Q95 (7) T (5aS
O e g’

O Z <1 R 7o dgeer
@  Z> 1% IRFAT I A
@  Z> 1 Redm 37 agete
@  Z<190F SR o apgie

frorre Rifenfiees el spigers [feare.
@ 2Cut - Cu?t+Cul

)  SMnOj + 4H' — 2MnO; +MnO, +2H,0
© 2KMnO, 4, K,MnO, + MnO, + 0,

@  2MnOj +8Mn** +2H,0 — 5MnO, +4H®

frcrre e It S19T ©F REEor IRy T4 |
1) W@?‘T (2) 3128 (d)

@) @ () TF (b)

® (@ O

@ (@ 3F(d)

TEET BT ARFAG ATP IGTT T AR
Reies @1- @87 BpiT OBt wesii qiest
9 (M) THRSH | MR

@ S
@ Be
& Mg
@ Ca

T
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[English+Assamese|_ 5 RS

13. ' The compound that is most difficult to protonate | 13, GSICE! (TS o5 STears TRt B afx
Hig i SEPT 7 o
/ 0\ O
®  ph ~H ® Ph— g
/0\ 0O
@ H- H ® H- NH
@  H, e H - ® He H |
.(4} H € . ™CH,. (4) Hy4C ©eCHy
14. The méjér 'ﬂfddu'ctl of the fbﬂoﬁﬁg reaction is : 14. eTo Tt [TEToIT s SestT @bt g'et
COOH s COOH. -
t heati ‘
COOH COOH
NH, NH,
NH, NH,
COOH " ~ ,COOH
-- CONH, - CONH,,
0
%) @) NH
COOH E COOH
@ (4)
NH, ' NH,
'ﬁh 1as
0 = Eiiao'slllarlgi%fnﬂegwr?‘laltmm;

T



R5
15.

16.

17.

18.

The most suitable reagent for the following

conversion, is :

| HC CH,
H,0-C=€~ CHy —> >=<
H ‘H

cis-2-butene
() Hg?*/H* H,0
@  Na/liquid NH,
@ H, Pd/C, quinoline
4 Zn/HCL - _'
If the rate constant for a first c-rder reactmn sk,

the tinié (t) required for the completion of 99% of
the reaction is given by :

) £=2.308/k

@ t=0.693/k
@  t=6.909/k
4 t=4.606/k
Match the Xenon toﬁlimunds in Column - I with

its structure in Culumn I1 and assign the
correct code :

Column -11

Column - T
@ XeF, @  pyramidal
®) XeFg - @) square planar
© XeOF, (i) distorted octahedral
d) XeOq (iv) square pyramidal
Code:

@ ® © @
®» @ G 6O @

@ © @ G@ G

& @) @) Gv) _(i)_
@ @ @ @O @
Which of the following series of transitions in the

spectrum of: hydrogen atom falls in visible
region ?

(1) Bracke{:ﬁ: series
(2) Lymangeries..
(3) DBalmerseries

(4)  Paschen series

15.

16.

17.

18.

[English+Assamese|

I ARSI SIS San Reaacs! 779 -

' Hac. CHg
HyC-C=C-CH; ——> >=<

cis-2-butene

() Hg?*/HY, HyO

@  Na/gfemt NH,

@  H,, Pd/C, $53°f (quinoline)
@  Znl HCL

i b st P Rifieie e R ofs 579 k
=7, RREAToE 99% T=51°f 7' JCeT SRS T ()

T
(1) t=2.303/k

@ t=0.693/k
@) . t=6.909/k

@ t=4.606/k

3 - 1 © Sfic coma JAsifders 88 - 11-6 iy
mﬁwaﬁrfﬁw?m%mwrﬁrmf‘s%%am

-1 -1
() XeF, q@ Pramdw
®) XeFy Gy  ofowa e
©  XeOF, (i) Fgo TBwadE
) XeO, (v) Fofowa PSR
HLUTS ¢

@ ((b) (@ @

M @ m O @

@ @ @ @
@ @ @ G O
4 @ a) @&

TS SrE BT QXY (S AT TefieAo (wdt

SIeEENe GIAPTIES (FIFTH! PHHIA ST SR 7
1 s e
@ oo et
@ IEmE o

@ ATeT o

T
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19,

20.

21.

22,

23.

Which will make basic buffer ?

(1) 100 mL of 0.1 M HCl+ 100 mL of 0.1 M
NaOH

2 50 mL of 0.1 M NaOH+25 mL of 0.1 M
CH4,COOH

~ 3 100 mL of 0.1 M CH3COOH + 100 mL of

0.1 M NaOH

4 100 mL of 0.1 M HCl1+200 mL of
0.1 M NH,OH

Which of the following is an amphoteric

il i

hydroxide 2

(1)  Be(OH),
@  Sr(OH),
@  Ca(OH),

@  MgOH),

The manganate and permanganate ions are
tetrahedral, due to:

(1)  Thew-bonding involves overlap of d-orbitals
of oxygen with d-orbitals of manganese

(2)  Thew-bonding involves overlap of p-orbitals
of oxygen with d-orbitals of manganese

(3)  There is no w- bonding

(4 The w-bonding involves overlap of p-orbitals
of oxygen with p-orbitals of manganese

The non-essential amino acid among the following
18 :

(1)  lysine

(2)  valine

(3)  leucine

4  alanine

Which one is malachite from the following ?
(L CuCO;z.Cu(OH),

2  CuFeS,

8 Cu(OH),

4) Fey0,

Which is the correct thermal stability order for
HoE (E=0, 8, Se, Te and Po)?

()  HySe < HoTe < HyPo < H,0 < H,S
@  H,S <H,0 < H,Se < H,Te < H,Po
3  HyO<Hg8 <HySe <H,Te < HyPo
(1) H,yPo<H,Te < HySe < HyS < HyO

19.

20.

21,

22.

23,

24,

R5

-~ EIACBIT F A IR Y B 7

() 0.1 M HCl ¥ 100 mL+0.1 M NaOH 7
100 mI,

@  0.1MNaOH¥ 50 mL +0.1M CH,COOHT
25 mLL.

3 0.1MCHZ;COOHZ 100 mL+0.1 M NaOH
9100 mL

@ 0.1 MHCIT 100 mL+0.1 M NH,OH T
200 mL

Ree @ Seuif TRy wES 2

()  Be(OH),

@  Sr(OH),

@)  Ca(OH),

(9  Mg(OH),

TR :

(1) wIwhe AT 498 IF oEifaeT
d-FHF ARYTEAT IO |

@ AT PG p-IwE SiF @EifTeE
d-F5F9 ARCAT XD |

Q) e m-arwE 95

4 w-ITFTe TS p-THE IAE AT

p-FHEF NHTHANT TL5 |
ele Trad 737 9fiv’ «fas @36 vioe
oaT-SreAfIR afie” afiwesr 374
Q) eTEes
@ ofaw
@  fersfea
@  awi=Ea

At (TR0 (FACOT (TENFIRD (malachite)
= 7
1)  CuCO,.Cu(OH),

2  CuFeS,
® CuOH),

H,E (E=0, 8, Se, Te W Po) T FII( (FA0I &%
S RES &N 7

(1)  HySe <HyTe < HyPo <Hy0 <HoS

2 H,S <H,0 <H,Se < H,Te <H,Po

(3) Hy0 <H,S <H,Se <H,Te <HyPo

(4) HyPo<H,Te <H,8e <H,S <H,0
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95

26.

217.

29,

Which of the following diatomic molecular species
has only 7 bonds according to Moleeular Orbital
Theory ?

(1) Bey
@ O
B} Ny
@ G,

For an ideal solution, the correct optionis:
(D) A, G=0atconstant T and P

@ A, S=0atconstant Tand P

8 A, V#0atconstant T and P

@ A, H=0atconstant T and P-

Among the following, the one that is not a
green house gasis :

(1)  sulphur dioxide
(2) nitrousoxide
(3) methane

(4)  ozone

What is the correct electronic configuration of
the central atom in K, [Fe(CN)4] based on crystal
field theory ?

@ et

. 4 2
@ Tty &g

6 0

{3) tzg Bg
4) ed tg
Match the following :
(a) Pure nitrogen i) Chlorine
() Haberprocess (i)} Sulphuricacid
(¢ Contactprocess (i) Ammonia

Sodium azide or
Barium azide

(d) Deacon’sprocess (Iv)

Which of the following is the correct option ?
@ b © @

G @ @ @ @

@ @O @ @ G

@ @ v @ qd)

@ @) @ G @

26.

27.

28.

29,

[English+Assamese]

(PROT (SIS (I W@ 7 JHICE SCF ?
(1) Be,

@ 0O

@ N,

@ G

QBT B ThT FEY B Rego s

O A, G =0 Toe P ARSI
@ A,,S =0 TIsPoriidAn

@ AL, V=0 Tene P seifsdn

@ A H=0 TP 7saw

T (PRI MTSTS (PISTCHT (T o2 (512 2 7

1) R TEEHIES
@ TG SRe
@ |

(4 'TH

e o ©uT 8Te WoT Bl K [Fe(CN) 1 ©

FER SO aF JEgNg RKeerdr i 2

@ et tl

@ by e

@  ty ey

@ &t

faafafis T et

(@) fRymaRp'ew @ e

b) [T AERS {) wARFSRT
s

©  TAOE fEmho Gi)  «onfamE

@ o smfs Gv) =fETm QBT
wWYFT TN
Gieh T

s @ 8 97 2
@ (M @© (@@
O v @ @ O
@ © @ @
@ @ G @O G
@ @ w W O

-
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30.

31,

32.

-33.

34.

Which of the following species is not stable ?
@ [SiClE
@ [SiFg)*-
@  [GeClg}?
@  [Sn(OH)I?~
For the chemical reaction
No(g)+ 3H,(g) = 2NH,4(g)
the correct optionis:
d[H,} _ , d[NH;)
J———— =12
U S T T
o — 1 dfHy]_ 1 d[NH;g]
N T 2 dt
d{N,] d[NH;g]
ey, — 2 pE M
3) dt dt
_ d[Np] _ 1 d[NHj]
@ & 2 a
For a cell involving one electron Efen =059V at
298 K, the equilibrium constant for the cell reaction
is
[Given that 2.303 K = 0.059VatT= 298 K}
(1) 1.0x10%
@ 1.0x10?
(3 1O0x10°
@  1.0x1010
Among the following, the narrow spectrum
antibioticis :
(1} chloramphenicol
@) penicillin G
(8) ampicillin
(4) amoxycillin
In which case change in entropy is negative ?

(1) 2H{g) - Hy(g)

2y  Ewvaporation of water

(3} Expansion of a gas at constant temperature
4  Sublimation of solid to gas

30.

3L

32,

33.

R5

s M JRm A ¢
Q) [SiCl*-

@  [SiFgJ%-

@  [GeClP~

@  [Sn(OH)e1*~

eIl fafer
Ny(g) + 3Ha(g) = 2NHi(g) T Tt
©% NEHOI 579 ;
d © d[NHy
a SRyt

o o Ld[] 1 dINHy]

@ 3 at T
_ d[Np] _ , d[NHgz]

® & "% @

_dNg] _ 1 d[mal
@ dat 2 dt

Bt 5a2w Sifvs Wil @ET 298 K S9ES
ES; = 0.59 V | @ Rifiraictia stivs gaacht 27a -

{f‘w«m X @ = 0,069V, T = 298 K}

®  1.0x10%

@ 10x10?

3 1.0x10°
4 1.0x1010

e ibiT mots witgs dfstafembras:
() | FITAFA

@ [T G

@  afeifsfam

@  guiafsia

AT (TS &éﬁ’% ATRTEA YTGF 7

1)’ 2H(g) - Hy®)

@  «1dg e

@ IS TT Spere OBt (ofgg AR
@) 5T AT colmle ST
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35.

36.

37.

Under isothermal condition, a gas at 300 K
expands from 0.1 L to 0.25 L, against a constant
external pressure of 2 bar. The work done by the
gas is:

[Given that 1 L bar= 100 J]

@O  30J
@ -380J
@ 5k
@ 25J

An alkene “A” on reaction with O4 and Zn—H,0
gives propanone and ethanal in equimolar ratio.

~ Addition of HC to alkene “A” gives “B” as the major

product. The structure of product “B” 1s :

-
H,C —CH-CH
W T
Cl CH,
ik
@ Ol-CH,—CH,-CH
I
CH,
CH,Cl
3 H,;C-CH,- CH- CH,
¥
@ HyC-CHy—C-CH,
i
Cl

Among the following, the reaction that proceeds

through an electrophilic substitution, is :

(1) @—CHZOH & Hci}ﬂath—GHﬁ +H,0
+
2) QNzcl i QCHNE
Al
(3) ©+ Cl,—> A, Q01+HCI

o {ronitta

Cl

Cl

Cl

10

35.

36.

37,

|English+Assamess|

300 K TBois Obl oy sgurdieng seifaaday
2 bar 4 BT [5i9ite 0.1 L T #31 0.25 L ¢=
SIS T | (STRIDIS RIQT 7=90F 57t Ff 357

[t S7itg @ 1 Lbar=100J]

1 30d
@ - 380J
@ 5kJ
@ 257

Og ¥ Zn—H,0 7 719 Rt sl «br aafe
‘AT AT’ (propanone) TNF AT (ethanal)
A AATOS BeH FE | QFT ‘A’ T A
HC @@vst freet 335 A Bpiest B S s 1 Seofw
‘B q ASAG 205

H.C-CH-CH
© % |
Cl CH,
i
@ Cl-CH,—CH,-CH
[
CH,
CHECI
®  H,C-CH,-CH- CH,
o
(4) H3C‘,—{}H2—C—l{31113
|
Cl
o it @351 nes S iefas dfedre
sfiraie Ty Rieamt e :

Q) CH20H+H01ﬂ©—<JH201+H20

+
@) QN201 Ol @-—CHNE
AICI
@ lez 2 QC]+HCI

(4) @ + C]zm Cl

C1

Cl

Cl

T
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38,

39.

41,

42,

43,

" 4d, 5p, 5f and 6p orbitals are arranged in the order

of decreasing energy. The correct option is :
(1) 5> 6p>4d>bp
@ 5f>6p>5p>4d
3 6p>5f>5p>4d
4  6p>>5f>4d>5p

The method used to remove temporary hardness
of water is :

1) Synthetic resins method

@  Calgon's methsd
@  Clark’s method

@ 'Iaﬁ-exchange method

A compound is formed by cation C and anion A
The anions form hexagonal cloge packed ¢hep)
lattice and the cations occupy 75% of octaliedyral
voids. The formula of the compound is :

(1) CA,
2  CyAg
@  CaA,
@  CaA,

Conjugate base for Bronsted acids H,0 and HF
are :

(1) HaO* and H,F+, respectively
(2) OH*, ~ and HyF *, respectively
(8) HiO0tandF-, fespectively
@ OH- andF-, respectively

The number of sigma (¢) and pi (m) bonds in
pent-2-en-4-yneis:

(D 13 cbonds and nobond
@ 10 obonds and 8 whonds
3 8obondsand 5 wbonds

(40 11 obondsand 2 wbonds

The number of moles of hydrogen molecules
required to produce 20 moles of ammonia through
Haber’s process is :

® 40
@ 10
® 20
@ 30

38,

39.

40,

41.

42,

43.

R5
4d, 5p, ST 6p FFEFPRD! 1ST S 377w STrran
| O En 39
(1)  5f>6p >4d > 5p
2 Bf>6p>5p>4d
@ 6p>5f>5p>44d
4) 6p>5f>4d>5p

R% ;

L plaw @fem afs
@ TS oS
@ SIS

@ sEE-faftem owfs

BT C S Q1T A T 31T QB 35 Sifys | et
Tt Tt e [hexagonal close packed
(hep)] THTBE 5159 g S (FOET R ey
TSI T56%. 5% a1 CNSIGIR =iy serws
R

D) CuA,
@ CA,
@ 08,
@ G,

FHES B H,0 Wi HF 579597 5195 2o T2
1) H0* =i H,F+

@ OH~ =i H,F+

@ HO*wsF-

4 OH 9FF-

T5-2-29- 4218 (pent-2-en-d-yne) © R8Tt (o) wrie
SIT% (mr) IrIA T2y 770

O 188t o-Frwfy S a1y WY

@ 1001 o-qr=fy o1 361 w-Try

(3 8B o-Ir=fT ST 5B -3iwEy

@ 1101 o= S 260 Ty
BRI &I 20 W'eT Ui e SRt 3% ror

W BRI e R T
1 40
@ 10
3 20
4 30

T
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46,

47.

The mixture that forms maximum boiling
azeotrope is:

(1)  Heptane +Octane

@  Water+ Nitricacid.

(3) Ethanol+Water

(4)  Acetone+ Carbon disulphide

Identify the incorrect statement related to PCl;

from the following :

(1) PClymoleculeis non-reactive

@  Three equatorial P—Cl bonds make an angle
of 120° with each other

@). Twoaxial P— Clbonds make an angle of 180°
with each other

(4)  Axial P—Clbonds are longer than equatorial
P — Clbonds

Colostrum, the yellowish fluid, secreted by mother
during the initial days of lactationis very esse ntial
toimpart immunity to the newborn infants because
it contains :

(1) Immunoglobulin A
(2) Natural killer cells
(3  Monocytes

(4) Macrophages

Select the correct sequence for transport of sperm

celle in male reproductive gystem. -

() Testis — Epididymis — Vasa efferentia
—s Vas deferens — Ejaculatory duct
— Inguinal canal = Urethra

— Urethral meatus

(2)

Teatis — Epididymis- — Vasa efferentia
— Rete testis—Inguinal canal — Urethra

@) Seminiferous. tubules — Rete testis
> Vasa efferentia — Epididymis
— Vas deferens — Ejaculatory duct

— Urethra —> Urethral meatus

Qeminiferous tubules — Vasa efferentia
—> Epididymis — Inguinal canal
— Urethra

4

12

44,

46,

47.

[English+Assamese]

SeeT Soeres- GRS B 5w St RID 279 ¢

(1) T + RO

@ o+aEie aine

@ B+ AT

@ afSh + I TRYTTERT

farre g (FR0R MRS 191 PCL, T (FaS 137
SReh! forrs 341 :

(1)  PCl ST T |

© fofsr Ry P-Cl arde e Hiede
9IS 120° T EFF |

(@)  uBI SrE P~ CLATTAICH RO Bieom 719
180° 11T I8 T |

4 SR P—Cl A ez fgd@m P-CL

TwATeE & RigeT |

et T A AT TG e T SR e
sirtf ‘T BN’ ATSIoT FIRSTDIF SREIRE@PIST 2T

AT Y3 WK, T BHIS S -
1) ST IR A

@ argpiosaite @ (killer cells)
@ WD

(4 T &=

AT THS WIS AT Wm AT IR
SfeTedt

1) B — aPiieeafie - Akl g Al
> wTEATE T - STHFAF AT —
SRS WA - YT —> J@AIS WIS
(Urethral meatus) 1 @S

ety — aPifseiiiig — IR vz e
—> W‘Eﬁ =T (Rete testis) — EREIen
AT — @]

ST AT — S GFE — A
e At — qPifseRfig - SR a9
> WS A — JEAFAT — [AT 9 B0
(Urethral meatus) <1 @219

WFSHT AT — YT IF T -
PIRECRRT — SR Tt —> T

T

@)

3)

@)
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48,

49,

50,

b1.

52.

Consider following features :

(@  Organsystem level of ;jrganisaﬁon
(b) Bilateral symmetry .
(€  Truecoelomates with segmentation of body

Select the correct option of animal groups which
possess ail the above characteristics.

(1)  Annelida, Mollusca and Chordata

(2)  Annelida, Arthropoda and Chordata
(3)  Annelida, Arthropoda and Mollusca
(4)  Arthropoda, Mollusca and Chordata

The ciliated epithelial cells are required to move
particles or mucus in a specific direction. In
humans, these cells are mainly presentin:

)

Bronchioles and Fallopian tubes -

(2}  Bile duct and Bronchioles
(3) Fallopian tubes and Pancreatic duct
{4  Eustachian fube and Salivary duct

Grass leavés curl inwards during very dry
weather. Select the most appropriate reason from
the following :

(1) Tyloses in vessels
(2)  Closure of stomata
3  Flaccidity of bulliform cells

(4)  Shrinkage of air spaces in spongy mesophyll

What is the site of perception of photoperiod
necessary for induction of flowering in plants ?

(1) Leaves

(2) Lateral buds
(3) Pulvinus

(4)  Shoot apex

Which of the following glucose transporters i1s
imsulin-dependent ?

1) GLUTIV
@ GLUTI

3 GLUTID
(4 GLUTIII

13

48.

49,

80.

o1l.

b2.

Rb5
ToTG Glad FET (QRFIET SRS RKIsA1 T4
(@ westoms fESs s |
b  Fa-eir Smirs
© AP (ORI WIF (R AT
ags T (oBRTeRDT RSy it arfiesnt snpEe
u g aifz Sfear
(1) G N, @FTCRs) A TE owdt A
@ TR o, R o pwd ey
@ 7o o, o o ety ey

@) T 21, TR A e PRt o

bt fafie fors i1 a1 it sifis sarata bRmgs

A (FRE A T | TIPS (7R 6 G (S

7

@) APEATT S e P e

@ Pre T o geEAee

(B) TP T o W Tee

@) TS 7 e et afw i

B MWFF o0 153 e oo P e 9w |
Fetafis snRe S191 g5 BET AT SeTedr :

O s A Bk (pRI ANR |

@ Hlaem IR QI |

@) grRrel @rEE Cifdena I |

@)  ~AE TATFAT ST T FCHEAF 1T |
S{=s! RiTIE SRS AN AT Aifepter
FFT S 2 O12 74 {6 2

L Ag

@ RN e

@ e

@ oo

BT (DT g3 AfIEE ZApfHas eqTe
froaTe 7

() GLUTIV

2 GLUTI

3 GLUTII

@ GLUTIH
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B3,

54.

56,

b7.

©

What map unit (Centimorgan) is adopted in the
construction of genetic maps ?

1)

A unit of distance between genes on
chromosomes, representing 50% cross over.

@)

A unit of distance between two expressed
genes, representing 10% cross over.

®

A unit of distance between two expressed
genes, represeutmg 100% cross over.

A unit of distance between genes on
chromosomes, representing 1% cross over.,

@

Purines found both in DNA and RNA are :

(1}  Cytosine and thymine
(2)  Adenine and thymine
(3)  Adenine and guanine

4)

(Guanine and cytosine

_ Tjndei which of the following conditions will there
" be no change in the readmg frame of following

mRNA ? -
5 AACAGCGGUGCUAUU &

(1)  Deletion of GGU from 7th, 8th gnd gth
positions

Insertion of G at 5th ;ﬁosition

(8)  Deletion of G from 5t position

(4) Insertionof Aand G at 4th and 5th positions

respectively

Which of the following is the most important cause
for animals and plants being driven to
egtinct_ion?

(1) A}ie‘n speciea invasion

2y  Habitat loss and fragmentation
3  Drought and floods

(4)  Economic exploitation

Which one of the following equipments is
essentially required for growing microbes on a
large scale, for industrial production of enzymes ?

(1)  Bioreactor

2y BODincubator
B3y  Sludge digester
@ Industrial oven

14

53.

54.

B5.

56..

57,

|[English+Assamese|
afai6s afod oFas (T Tafsa 83150
(CBTogeIT) Tago 27

1) TS I & oI Ol 4TF 7 50%
o R e o

@ 0 AIRS ST HawT W 0T 10% e
faferm 377 |

&) gﬁmﬁ—@%ﬁawawﬁmmm%ﬁ
[SICEREICH

@ TSNS T ST E BT wes g 1% o

Ay )

5,999, Wi$ WF.99.9, Sedrs PEIRA ofigr-
T RS

(1) oD =T oI ARATEH

(2) QTR W YIRS

@) TTARH ST SEART

@) AR S BIEDIRRT

©od (FIFCOT IFES, TeTS frat mRNA RO
ST I Rerstore ARRE 72q ¢

5 AACAGCGGUGCUAUU 3

(L) W,.ﬁ@WWWWGGUEm!
2)  IPTYTS ‘G T TALIIOH |

(3) oIBY IEF 4G F Rrea |

@ vy W“A’Eﬁww BN BTG ‘G’

ST |-

-mmﬂrﬁmﬁiw@%ﬁmﬁ’i@amq 7

(1) <fE1ors eoTfos SR

2)  SIAITEE RS S 4 4 (A6
@ dERSTT

@  SIRARsT ca

GTIENT ST Sedmas  estm 7 SSE
W@%HWTWWW%
SIS 7

O IWRaE

@ R e iaiedrne

B IS eRSER
STifE e

@)
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58.. Which of the following is a commercial bloed | 58, waw @G TEINFSE TI56 @I (TS
chole ste‘rol lowering agent ? & CETCBRT FOTIR TR (agent) ?
() Lipases + () oTRere g
2) Cycl:t}sponn.& @ R A
®  Statin @ T
@  Streptokinase @ RS
59. The Earth Summit held in Rio de Janeiron 1992 | 59, 1992 ® fer f oo’ © et Ry~ ottt
was called : =
(1) for immediate steps to discontinue use of (1) SPTAST RO FEF A CFCs T IR TS
o ::}FCS-;hat W;l; damégm.g the GZD:e 11&1.3:1',1 o o |
o reduce CO, emissions and globa " . 2
warming. @ FHA-TIE-SERG [FfesTd ZPT e (e
{3 for conservation of biodiversity and Aok ud
sustainable utilization of its benefits. (3) i [@tE TeEw P RY TRIS6IE I3[
(4)  to assess threat posed to native species by 1 SABIST SACIRIST |
invasive weed species, @ RIS T doiies AeeT W oo
_ SIREga 4he eigiF |
60. In Antirrhinum (Snapdragon), a red flower was ¥
crossed with a white flower and in F, generation, | 60. <@/ 5fazam( (witasq ), Ay 381 e Siw Jaie ot
pink flowers were obtained. When pink flowers TR T A qEIA-F .;,1‘—?-;3——' = STt cotat
were selfed, the F', generation showed white, red b At LA o ALt el
and pink flowers. Choose the incorrect statement TR BfI® @roAl F 7[#I6 I-SREATSE I 27
from the following : cofoar-3 F, 57539, 391, s e freg | o9
(1) Law of Segregation does not apply in this Sfe 30T 91T % Saacot 1 Sttt -
experiment. | Q) SAFPI frmr @R S191ES T S |
(2)  Thisexperiment does not follow the Principle (2) @3 SIPHICOIE ASITIST g = |
e @  F, o500t gmAm 108 Spivef ety
3 Pink: colour in. F; is due to incomplete ﬁ'ﬂl‘r A |
dominance,
: i 2
1 2 1 4 Fo 737 O 7lle —(J¥7) : — SISHAT)
(9 Ratioof Fyis 7 (Red): 7 (Pink): 7 (White) @ B g i )
1
| . . , o — ()
61. From evolutionary point of view, retention of the 4
female gametophyte with developing young embryo - SR 7
on the parent sporophyte for some time, is first 6L, CRARLE R Prg-aTe Q{Hs = ﬁﬁg
observed in : STHIS AT AYTH FaTwe 9T 9 =g [arT frestug
() Gymnosperms ST (FINCOT CFurs (RAT T ?
(2) Liverworts 1 FAIST Sfem
3) Mosses @ foaemaiz
(4  Pteridophytes B T
| @ R gefT Siew
62. The frequency of recombination between gene pairs :
on the same chromosome as a measure of the | 62 QTR TN TS RS G TR WWW
distance between genes was explained by : sffes S (IS 7
() Sutton Boveri ) =o'
@  T.H.Morgan @ fo.9%g 9o
(8)  Gregord. Mendel (3 TN (. (qOSF
(4)  Alfred Sturtevant @ S e
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63.

64.

65,

66.

67.

15 [English-t-ﬂ.ssamesa]
What is the direction of movement of sugars in | 63. I (W =97 sifiss et (o ¢
piteem ¥ ) Seafeaefs
(1)  Bi-directional @  wafeda ofs
(2) Noil-multi_djrectic}nal 3) .‘\-F,'-gégnﬁ:!-
(3) Upward @ sy
€ Downwixd 64. o WA TIFT TS (1B Weanar
Match the following hormones with the respective (@ EApleTE @  afoeTs @
disease: E ) <R @ SRIEE
(& Insulin ()  Addison’sdisease yafshiws
®  Thyroxin () Diabetesinsipidus © RIS Gi) awowifer
{¢) Corticoids (iii) Acromegaly @ s = (iv) o1 (I (goitre)
(@ GrowthHormone (iv) Goitre (growth hormone)
(v) Diabetes mellitus &) TRDs
Select the correct option. : weToTs
@ ® @ @ w5, g Tft Sfereat
» @ @ 6 @ o o o
) ) ®» ® @ O @
@ ® 0O @ @ ® © 0 @ G
3 @) Gv G @ ) @ vy @ ¢
o (. ) {. } () @ & G @O @
@ ~» W O
- 65. u% RagorIify Sfensar :
Select the correct option. 1) R FIhET 0 ST BT s,
()  There are seven pairs of vertebrosternal, fefarare txtr  sriwst-sfime
three pairs of vertebrochondral and two pairs rtebrochondral) w2 SN FUAME C50% ST
of vertebral ribs. v e S )_ e
@  8th, 9th and 10th pairs of ribs articulate 5 ?ﬂﬁﬁmﬁ ;-:gqa- S T B
directly with the sternum. @ : et 4 aaji;;‘ja; WTzf'ﬁ"i I
(3) 11t and 12 pairs of ribs are connected to P SASRERIEEATR RS SN |
-the:sternum with the help of hyaline @ 9T SE w9l @I FRAT KR
cartilage. - . SRR (Hyaline cartilage) REIsTS Bifiwg
@  Eachribis a flat thin bone and all the ribs TG AR AT | - )
are connected dorsally to the thoracic @  fsor SIfiEe. bt et «iTee BT I
Select the hormone-releasing Intra-Uterine (thoracic vert.ebrae) ATS A HF
Devices. ' _ Tﬁf?iig Ty m Wﬁ% Hﬁa“ﬂ' bica
(1) Lippes Loop, Multiload 375 66, ZIN'T WY F( AN TWSTHTS INRS HfReriiay
(2) Vaults, LNG-20 = = (IUD) 915 Sferaat k
(3) Multiload 375, Progestasert (1)  feriw =g+, MfGeT"S 375
4)  Progestasert, LNG-20 @ ©'7g5, LNG-20
S —— e did . (3) WFoA'T 375, ATSTEGIS
ich of the lollowing protocols did aim for AT RIS :
reducing emission of chlorofiuorocarbons into the @) ‘ o, LNG-20 B
atmosphere ? 67. T8 THINCOT A0 FCeT IFNSEE HIFI AT
(1) Geneva Protocol fosto Zi7 17 1T v IRTEE 2
(2) Montreal Protocol 1) TERTS AT
@  Kyoto Protocol @  walge o0
(49  Gothenburg Protocol @) s o b
@) st st o B et
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17 R5
68. Cellsin G,phase: 68, G, CERETINA :
(1)  terminate the cell cycle 1)  TFIESSCOT ST R |
(2)  exitthe cell eycle, (é) ek i R R PR e
(8)  enter the cell cycle Q) (PTG AT |
(4)  suspend the cell cycle @ (EcEE eIy |
69. Insome plants, the female gamete develops into | 69, o Siene o\ @ sy FIEERS Sd@e
gmbryn without fertilization. This phenomenon RS 5T, O OIF (a5
isknown as : : .
‘(1)  Parthenogenesis W SRR
®  Autogamy ®
@  Parthenocarpy ® e
(4) Syngamy I :
70. Select the correct group of biocontrol agents. o, = mm"ﬁ' SR R R
(1)  Nostoc, Azospirillium, o @ %ﬁ;ﬁ;ﬁg&w ‘
Nucleopolyhedrouvirus : : o
(2)  Bacillus thuringiensis, Tobacco mosaic 2 @%ﬁgﬁm IATST TEHIRF IEATT,
virus, Aphids qFG
3  Trichoderma, Baculovirus, ® e "GIFHY, [T ’m
Bacillus thuringiensis %R YRARTETRY ' '
4)  Oscillatoria, Rhizobium, Trichoderma @  orRETsRY SIS, Dhe e
71. - Phloem in gymnosperms lacks 71. TR SR e AT .
()  Bothsieve tubes and companion cells () oA Al e 38 @ TR
@  Albuminous cells and sieve cells 2 ECUTOIITE &F TS BT (Y
(). Sieve tubesonly (3) ©lieTAt ol wiediT
@) Companion cells'only @) o8 (I WA
72, Drug called ‘Heroin is synthesized by : 72, CTRERT HINT G SN BoTd (I (199 7191 2% 7
(1) - nitration of morphine (1)  WIEE TG
(2) methylation of morphine (2) H’Eﬁ-_rﬁil (HRIETG DY
(3) -acetylation of morphine @ wIRFaT WibBETEER
()  glycosylation of morphine @ W W’W
73.  Expressed Sequence Tags (ESTs) refers to: 73. @ (OoR (R 9 5 «z) « 'SfST?I :
() Novel DNA sequences O wifeTe fb.am.q. s
(2)  Genes expressed as RNA PN (CT AT RUE WO T R B 014
(8)  Polypeptide expression (3 IR g
@)  DNA polymorphism @ fo.am.q. I
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4.

75.

76.

7.

18 |English+Assamese|
Tidal Volume and Expiratory Reserve Volume of | 74, o (457033 (athlete) TSR Sigo Sl a7 Res
an athlete is 500 mL and 1000 mL respectively. T SIS 278 W 500 mL S 1000 mL | =
What will be his Expiratory Capacity if the _ . B
Residual Volume is 1200 mL ? G 8 WS 1200 mL =4, (508 (56T e ol
@  2700mL ISR
1 2700 mL
@ 1600mh @ 1500 mL
@ 1700k (3 1700 mL
(49 2200mL 4 2200mL
Use of an artificial kidney during hemﬂdlalysm_ 75, RreRE ,E (hemodig]ysis) S 01 T g3
‘may result in : SIEEE] Eﬁﬁfﬁ T oot AAfeeny @RI FA .
(@  Nitrogenous waste build-up in the body (@ T TG (T SO SIS T o5 |
® N on-elimination of excess potassium ions ) fcfre “iitam srare Ay 757 |
{©  Reduced absorption of calcium ions from © CNBFIAR YT (oetibam SiFaa SEeTRd
gastro-intestinal tract L
@  Reduced RBC prﬂductmn (dy RBCTs>THI
Which of the following options is the most 3% gt e
appropriate ? @ () @) ow
(1) (a) and (d) are correct @ ()T b)WF |
2  (a)and (b) are correct G (b)SF () F]
(3>  (b) and (c) are correct @  (0)®F () 0%
4  (e)and (d) are correct
76.  TOF (A0S E-ST4% Siev *PiR siod i ST
Which one of the following statements regarding I s 7 -
post-fertilization development in flowering plants. 1) fors meree Afes 5 |
is incorrect ? ' ' ' & N
2 SETHT FoTo TSRS 3T |
(1)  Ovules develop into embryo sac @ = R
. ; . (B LI TAT ARG 5 |
@  Ovary develops into fruit 4 : J—
G Bz b R R R B |
3) Zygote developsinto embryo @ o R
(4)  Central cell develops into endosperm 77.  ©=9 ZNTCES (hominids) e PrRes wewE
HIFTS miceTiat
Match the hominids with their correct brain @ % afRfz @ 900 cc
R (Homo habilis)
@ Homo habilis {i) 900 ce b) 7 WW?G_@_ (i) 1350 cc
-0  Homo neanderthalensis () 1350 cc (Homo neanderthalensis)
{cy- Homo erecius. i) 650-800cc © ?? ‘RTIE (i) 650-800cc
- X ) Homo erectus)
d) Homo sapiens 1v) 1400 cc :
@ e _ ( & 7 I (v) 1400cc
Select the correct option. (Horo sepicnsh
® » © @ < st it et
GH v @ @O @ (» © @@
® @ O @ @ A
. : : _ i) ivy @i
3 (ij) (1+1) (T} (T»’) ® @ @ ®& @
@ @ @ @O @ @ G v @ @
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78. . Tt takes very long time for pineapple plants to | 78, SRS s el mﬁm eTITst | CoNTER 9%d
e e W embatonslbornems | 4 o e o s o S
pineapple plants throughout the year to increase JuiaCe C&Tﬂﬁﬂ DI W Eﬁﬁﬁ ST,
vield 7 | (1 51‘5.‘3 ﬁ‘ﬁﬁiﬂ g tﬂﬂfﬁfi@ i
(1 Cy"tqkinjn and Ab_scisi-l::' acid @ i o AR
(2 Auxinand Ethylene - P a2
(3) Gibberellin and Cytokinin . (3) Wﬁﬁ e Bﬁ“ﬁ’iﬁﬁfﬁﬂ’

(4)  Gibberellin and Abscisic acid @  foarafr ore agfefee ofte

79.  Which of the following pairs of gases is mainly 79. m_@’@ 415 Wﬂﬁ_ Cﬂﬁ—ﬂq @H-CBT Cﬂi’ﬁ W.
responsible for green house effect 7- WﬁT 7
L _Ca_rhﬁn dioxide and Methane a 35‘{?1'71' q,—@ W T ﬁi’CQF?T
@)  -Ozone anFI Amm.oni?, 2. o Tg‘ Gl w"ﬂy v
3) 0x§rgen'and Nitrogen’ | (‘3}” : " ' Wqﬁ’m
(4)  Nitrogen and Sulphur dioxide _ B B BT o .

| - @ TGS I e SRS

80. Select the correctly written scientific-name of
Mango which was first deseribed by | 80. m’m%ﬁma@ww @WW?&@W
Carolus Linnaeus : B BT =
(1)  Mangifera Indica ) Ma,!g;fem Thitioa
@  Mangiferaindica Car. Linn: 2  Mangifera indica Car. Linn.

(®  Mangiferaindica Linn. @  Mangiferaindica Linn.
@  Mangifera indica (4) Mangtfem indica

81.  Respiratory Quotient (RQ) value of tripaimitinis: | 81. ‘m —rewaa- o7 (RQ) Tr3enfafby e+
A  0.09 ®» 009
2 09 @ 09
@ 07 @ 07
@ 007 @ 007

82. Match the following structures w1th the:r | 82 WWWW WW\WW@T
respective location in organs: | - @) ‘%‘_“fﬁ?‘m -_‘%ﬂg ' ® @m
@  CryptsofLieberkithn .G)  Pancreas | (Crypts of Lieberkiihn)

()  Gligson’s Capsule . (i)  Duodenum & B AT @) oareAn
.__..(c) Islets of Langerhans (m) ;T:Sléne O e = S i)

@ BrumnersGlands .°  Gv) Liver @ FAmafy v TS

Select the correct option from the following : ﬁmﬁﬂﬁwﬁwﬁmﬁ SferagT:

@. b @@ @ @ b @ @@

L @) G @ @) O @ @ @ G

©® Gy @ G @) @ @ 0 @ G

@ @ @ O ® @ @ O

@ G @ 6 @ @ @ @) @O @

19
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83.

86.

817.

'- (2) Inbreedmg mc1 eases hnm nzygemty

(1)  Chlamydiasis

{4)  Genital herpes

toxin of Bacillus thuringiensis in boll worm ?

20

Select the incorrect statement. 83,

(1)  Inbreeding helps in accumulation of superior
genes and e]imination of undesirable genes,

8)) Inbreedmg is essential to evolve purehnes
In any animal.

(4) Inbreeding selecté Iharmfui'receséive genes
that reduce fertility and productivity.

Thé correct seqi;encé of Iﬁh_ases of ceﬂ-égfcle 18 :
B G -85->G—->M

84,
@ Mo G;—Gy—S
3) -'G:'1 - G,=-»8—>M
@ 855G, 5G,—-M
Which of the following sexually transmitied 85

digeases is not completely curable ?

(ﬁ}. Gonorrhoea
8) Genital warts

What triggers activation of protoxin to active Bt 6.

()  AcidicpH of stomach
(2) Body temperature

@)  Moist surface of midgut
4  Alkaline pH of gut

The concept of “Omnis _célliuid_-e cellula”regarding 8.
cell division was first proposed by :

() - -Aristotle

2) Rudolf Virchow'

8) -Theodore Schwann
(49  Schleiden

Which of the following immune responses is | gg
responsible for rejection of kidney graft ?

(1)) Cell-mediated immune response
(2 Auto-immune response
(8) Humoral immune response

4 Inflammatory immune response

|[English+Assamese |

SR Sfecot 3ift Shrea :
1)  BATHA @Qtfe: D ICI N TR EATGIS L)

2. BT TGS (humoz:,rgaszty)q’r‘miﬁi
(3) mﬂwm&ﬁaﬁ@aaw ST TS T
HITHH |-

@ oA @ﬁ%amé’r rsrﬁt-sfé“r ﬁw—em{w

5159 7, WWW@QWW
BRI

I 58T BF FIEWOI L -

M G >8—>Gy—M

@ M-o2>G-2G6G;—8

® G oG,38>M-

@ S-5G >CG,5>M

TE. (AR A SRENF @1 AN BIe
T

EV IR AR 1

@ srREr

() BT (genital warts)
@ A s (genital herpes)

BT aTras Ales T3 - [T
g(ﬁaﬁwaﬁwﬁ%%ﬁﬁﬁq—wwmﬁ? |

43) Wﬁﬂﬁ_ﬁ” Gﬂﬁﬁi pH

@ RIS -

@ ¥y o e oS

@ | L‘JW pH

Y ety ‘erriae (pEar-2-isaat’’
TS~ CATA AATCS (I 2B asi%ﬁm 7.

1) afXB e

@ AT fegor

@ RErsIgEe

@ @A

B (PICHT SPTeEnTy Afstaats I (@d e
(kidney graft) ST I =T 7

1) = SesE SR Afsfeat

@  F-OPR@NTe! dfsiear

@ R opes Afofe

@)  owix SPiReris afsien

collegedunia:s

India’s largest Student Review Platform

T




[English+Assamese |

21

89,

.90,

91.

92.

3.

(1) Human males have one of their

their respective products :
(@) 1igene (1)  B-galactosidase
) zgene (i} Permease
() agene (i) Repressor
(d vegene (iv) Transacetylase
Select the correct option.
@ &) © «@
W @ @ O
@ O @ @ (iv)
@ G @ G G
@ (@ @ G @

Which of the following statements is not correct ?

(1) Lysosomes are formed by the process of
packaging in the endoplasmic reticulum.

(20 Lysosomes have numerous hydrolytic
enzymes. |

(3 The hydrélyﬁc enzymes of lysosomes are
-active under acidic pH.

(4)  Lysosomes are membrane bound structures.

Select the incorrect statement. .

sex-chromosome much shorter than the
other.

(2)  Male fruit fly is heterogametic.

(3) Inmale grasshoppers,
no sex~chromosome.

50% of sperms have

4  In domesticated fowls, sex of progeny
depends on the type of sperm rather than

egg.

Whlch of the following statements regarding
mitochondria is incorrect ? '

(1) Mitochondrial matrix contains smgle
circular DNA molecule and ribosomes.

@)  Outer membrane is permeable to monomers
of carbohydrates, fats and proteins.

(3)  Enzymes ofelectron transport are embedded
In outer membrane. .

(4) Inner membrane is convoluted with
infoldings.

Variations caused by mutation, as proposed by

Hugo de Vries, are :

()  small and directionless

(2) random and directional

@) random and directionless

(4) - small and directional

Match the following genes of the Lac operon with

89.

91,

92.

93.

R5
T4 (AT SfF e ¢
) TR RN AT SifeTo A5 CBIestret
AR g e 1
@ WQWWWWWQWW[
@ AR AT e S ﬂﬂ-‘@ﬂ‘i{ﬁm
w5 pH © SifaFg |
@ TR RN SRRt WS 5

R SRECO! 1S Sferagr

(), ol TIag o7 FrSHT 9T SToEeid
TG B

@ TSt FATA WA (Fruit fly) TR SO
TENIIAT |

B OGS 50% BT frest T AT |

@) ciENEA gNE ovas ST fres fersts
WTIT YPIIF ATS FoaTreT |

IEE PR ook ft weTw (TADT S

7 | - |

()  TED TR SRS (matrix) 96t 5EEHIT
f% @7 « (single circular DNA) ®I¢. =
W TAYE | -

(2 a&m&mwﬂw 38 ol S
Afoae BT @ o |

@ EreEw AT Seone WE ke

@)  TWSIFIAT! T SISHIRA BT A1 T4 |

RS Tyt farsT 28I F41 SeAfaTsag doqer 5y

O T R

@ PR o fenferd

@ FERirgm e ke

4 TFHT iﬁ"ﬂh&:ﬂﬂt
oo @l & STis foaenay ase ey
Sesitfire wawE e ;
@ ifss Q)  B-TIET BRI
b zfew Gi)  siffes .
© afsa Gi) Es (Repressor)
@ yRw= (iv) Greraftbiacers
v Rese! afs Sfreat:
@ b @ @
®» @ G O @
2 O G G G
@ @ O G @
@ @ @ G 3@
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94.

95.

96.

97.

98.

99,

The shorter and longer arms of a submetacentric
chromosome are referred to as :

(1)  m-arm and n-arm respectively
(2) 's-arm andl-arm respectively
(3) p-arm and g-arm respectively
4  g-arm and p-arm respectively

Extrusion of second polar body from egg nucleus

occurs :
(1) simulianeously with first cleavage

(2)  after entry of sperm but before fertilization
(8)  afterfertilization

(4)  before entry of sperm into ovum

Due to increasing air-borne allergens and
pollutants, many people in urban areas are
suffering from respiratory disorder causing
wheezing due to:

(1)  reduction in the secretion of surfactants-by
pneumocytes.

(2)  benign growth on mucous lining of nasal

cavity,
(8 inflammation of bronchi and bronchioles.

(4)  proliferation of fibrous tissues and damage
of the alveolar walls.

Which part of the brain is responsible for
thermoregulation ?

(1) Medulla oblongata
2)  Cerebrum

- (3) Hypothalamus

(4)  Corpuscallosum

Polyblend, a fine powder of recycled modified
plastic, has proved to be a good material for :

() making tubes and pipes
(2y making plastic sacks
(3) use asa fertilizer

(4) constructionof roads

Identify the correct pair representing the
causative agent of typhoid fever and the
confirmatory test for typhoid.

(1)  Salmonella typhi/ Widal test

(2) Plasmodium vivax { UTI test

(8)  Streptococcus pneumoniae  Widal test
(4  Salmonellatyphi/ Anthrone test

95.

97.

98.

99,

[English+Assamese]|

GO SANTEFEE W S NE §1 o R Ao

A waram ¢

(1 m-JZIF -2 EFH |
@ s EFIIREFE |

@ pATE GAREHA |
@) QAR HF p-IREFH |

forq (BIETET < THSW (PRI (polar body)
IR CETE

Q) oY [qverae S0s 71 |

@ T S WEFE AR TS |

(3 FEEIsES!

@  ToRGIeT WEFYT 9T SIS |

S TS GRS 1T ST A A TS
I 41 IRCST TGRS W07 241 1870 8 (RTINS
73 TF (wheezing) | STT FIIT ;.
() f99’W’c188BF  (pneumocytes)
SIRIFCE0T [Newad R |

E

(2) AT 51339 (nasal cavity) T SEITS

wrefoda gl | |
@) TR S TS SRS 4R |
@ RN T e ST IS @I9 T8

e |
oIS (HIACO] IR Sawst et S 7
1) TG SREse!
@ g

B T AenNs

@ fly @R

TS Ty 2R A aneiRd i ST wiw |
afy BreT i e omifas oz a9

) B oI siEs onfiRe A |

@ AR @R MRRI IR |

@ 74 B TRE SivEe )

@) IWIARIIWI

DIREHG (@IT (@ HISHE S B4 TSTe! 355 AT
©% SeIEE A1t Sfrear |

O @ BERE SRS A<

@ e erirew | XS G w1E A9
@) B FFEE AT QAT At
@) e GERE OE e
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R5

-100, Which one of the following is not a method of [ .100,. 5o =T Si7 &ae tow &S Teawag -
in situ conservation of biodiversity ? B ‘@?_, T AT (% T RS T 7
¢ S:;::\cred Grove O AR ]
() Biosphere Reservg © - Sramesa s
3  Wildlife Sanc’:i:ugr}f @ A srewts
(4) Bc}tanical Garden @ SR
101. Thiobacillus is a group of bacteria helpful in | 101, o’ @Bary iz wfiy @Efymis % i
carEyinmout; RIS G w1 Calts o7 B 7
(1)  Denitrification | W AR G Sl
(2} Nitr ogen ﬁxatmn : (2) 'TI?E o Fafssaer
(3) Chemt}autotmphlc fixation © WWW‘T
(4)  Nitrification @ G oS e
102. __ le}alt is the fa:i:e?cnf the male gametes dlschargad 102.. FEFiET (Fivw «fF it AL (T i%q': sifezT 7
in 3 i
(1 e 2::13 with the egg and ather fuses with - | ('1}' foex ﬁ%}‘ﬁ o T e
central cell nuclei. Z?F@'«;EI (PR (I (U Zyﬁ"— ﬁw{ﬂ E
(2) Onefuseswiththe egg, other(s) degenerate(a) @ b ﬁ@ﬁ’[ﬁlﬁ' ﬁ%_ﬁwwwm
in the synergid. - - . (FITS FTATE 27 |
@  All fuse with the egg. @) TR Wwawq -
(9  Onefuses with the egg, other(s) fuse(s) with @  afb-foqiga w1sts s Sie SRR
synergid nucleus, RIS (SRS (FIIES (TCS A9 |
108. Which of the following can be used as a biocontrel | 108 Bfer w@ters s T tow frage e
agent in the treatment of plant disease ? T TR FIT 87
() Lactobacillus ) TE T
2) Trichoderma @ 5EF ‘GITNT
(3  Chlorella (3) F'EFE
4  Anabaena @  @FREr
104. Placentation, in which ovules develop on'the inner 104, @ERY STEPIRS EW TR feosq (@70
wall of the ovary or in peripheral part, is : 3 iy e =17
(i) Free central | {1 | I Fﬁ"fﬁ'ﬂ
@ Basal @
8 Axile (3 TR
(4) - Parietal @ sfelm
105. Which of these following methods is the most 105, FOHRE 1 (SSEA Sastar Rorst e icq wore
suitable for disposal of nuclear waste ? FTACHT TS SATRGLE SHTS 2
(1) Bu:r:y the waste within rocks deep below the (1)_ "ﬁl‘%ﬁ '51@3“ WW@E WW
Earth's surface et
@ Shﬂot_ the waste into space @ T SESEHEE %qu =
(3  Bury the waste under Antarctic ice-cover () ST O OIFETT I35 99 oS (At |
@  Dump the waste within rocks under deep @ TEIEg adlee It Preryes feess
e ISR AT |
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106.

107.

108.

109.

1140.

Which of the following statements is incorrect ?

(1) Yeasts have filamentous bodies with long
thread-like hyphae.

(2)  Morels and truffles are edible delicacies.

(8)  Clavicepsis a source of many alkalcids and
LSD.

@) Conidia are produced exogenously and
ascospores endogenously.

Identify the cells whose secretion protects the lining
of gastro-intestinal tract from various enzymes.

(1)  Duodenal Cells
(@)  ChiefCells

(3)  Goblet Cells

(4  Oxyntic Cells

Select the correct sequence of organs in the

alimentary canal of cockroach starting from

mouth :-

(1) Pharynx — Oesophagus — Ileum —
Crop — Gizzard — Colon - Rectum

(2) Pharynx — Oesophagus — Crop —
Gizzard - [leum — Colon — Rectum

{8) Pharynx — Oesophagus — Gizzard —
Crop — Ileum — Colon — Rectum

(4) Pharynx -» Oesophagus — Gizzard —
[leum — Crop — Colon — Rectum

A gene locus has two alleles A, a. If the frequency
of dominant allele A is 0.4, then what will be the
frequency of homozygous dominant, heterozygous
and homozygous recessive individuals in the
population?:

(D 0.16(AA); 0.36 (Aa); 0.48 (aa)

(2 0.36(AA);0.48 (Aa); 0.16 (aa)

(3) 0.16(AA); 0.24 (Aa); 0.36 (aga)

@)  0.16 (AA); 0.48 (Aa); 0.36 (ag)

Following statements describe the characteristics
of the enzyme Restriction Endonuclease. Identify
the incorrect statement,

(), ' The enzyme recognizes a specific
palindromic nucleotide sequence in the DNA.

(2)  The enzyme cuts DNA molecule atidentified.

position within the DNA.

(8)  The enzyme binds DNA at specific sites and
cuts only one of the two strands.

(4) The enzyme cuts the sugar-phosphate
backbone at specific sites on each strand.

24
106.

107.

108.

109.

110.

[English+Assamese|

fpiferiie Sfe siyza sremio! atfbdlrear? .

(1) 2B omgR Aot ST T ST W TN |

@ W CHOTE O G ST R oI Y |

@ EferrRa’e el ST OF O g f. 9
e | ;

@ <R sz AfEsg S QB N TR TR
TP ST S 27 |

OO (IS (T FIewaed Ae-jaEe foews

NG (lining) Fifen Semivea o[t TF 5E 2

1) T CTINF &I

(2) %ﬁ (F1F (Chief Cells)

(8)  9f6a (@F (Goblet Cells)

@ wfEtes @E

T4 7 ST I ARG YT S IPT SHLBIIEE

% P! G Bferear |

1 Ffiw - W @Ehay > FuE -
BIBIett — tiFf — RE - Tersly

@ o - B (FSITE, — BT (Crop) —
RN — FEE o JG -> ey

@) (TfEm o EREsy — ¢EH -
OB, — FarE — R — TN

@ whRE - WETR - PIEh - $ag -
OO — qHiE = WeTels

Bt s s a0 g0t Wi A, a SItr | T deidt
afeTAt A 7 SAATE (frequency) 0.4 T, (SERE
IRARGS Tgos 2oldl, RAgss e Tes
TAold Thes s fera =7 ¢

(1) 0.16 (AA); 0.36 (Aa); 0.48 (aa)

2) 0.36(AA);0.48 (Aa); 0.16 (aa)

@  0.16 (AA); 0.24 (Aa); 0.36 (aa)

@  0.16 (AA); 0.48(Aa); 0.36 (aa)

we1d Shenyz [t Fafs ae ey aaeikng

bfwe 3¢t v | oo Seaoraifs Sferear:

1)  «ToTEy f5.qq. 9, T (iferahine Feirer tew
SIS (eI B AT

@ f5.4q9.9. 3 ares§omas f5.99.9. 319
OFTTIEGH BICC | - o

(3) TSN @A [ o%s f5.uH.9. I I
E OIF 6T (O3S WA ABrs FHG | -

@) RS GoT RitE 3As gore-TRies (enss
TSR FICT |
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(111

112.

113.

114.

115.

116.

Which of the following muscular disorders is
inherited 7 .

(1) Botulism

2  Tetany

8 Muscular dystrophy
(4)  Myasthenia gravis

Persistent nucellus in the seed isknown as :

(1) Tegmen
(2) Chalaza
(3)  Perisperm
4  Hilum

What is the genetic disorder in which an individual
has an overall masculine development,
gynaecomastia, and is sterile ?

()  Down’s syndrome

{2}  Turner’ssyndrome

(8) Klinefelter's syndrome
(4) Edward syndrome

Which of the statements given below is not true
about formation of Annual Rings in trees ?

(1)  Annualrings are not prominent in trees of
temperate region.

(2)  Annualring is a combination of spring wood
and autumn wood produced in a year.

@  Differential activity of cambium causes light
and dark bands of tissue - early and late
wood respectively.

(4  Activity of cambium depends upon variation
in climate.

DNA precipitation out of a mixture of biomolecules
can be achieved by treatment with :

(1)  Chilled chloroform

@  Isopropanol

(3). Chilled ethancl

(4  Methanolat room temperature

Pinus seed cannot germinate and establish
without fungal association. This isbecause :

(1)  its seeds contain inhibitors that prevent
germination. '

(2) itsembryo is immature.

(8)  ithasobligate association with mycorrhizae.

(4 it has very hard seed coat,

25
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R5

ST CPIATOT (o 7esifs 9este ¢

L Apleey

(@ fBoH

@)  TETReEEET (Muscular dystrophy)
4) el e

Hore A Mg D AenaF s @il 29
O [T

@ T

@  Afecterr
@ feEwals

i fori Rregien aica Gieat sRe stecert Petg #a
24, 3TF A=

Q) TEIRIOGR
@ ez g
B  FERWEEDT B
(@) GG G |

%5 A&7 I IO A5 INT Teld (FAOT 8

@O TfoTrers s Sive T IO R
S 7 |

@ 9wET foods (K[ P F16 TF IR FIoF
Tetag w9 | |

@ EHRINR AP 4T SRR ST N AW
GI5iF Tt SAISIAT S ISt F6F I |

() RIS RSN AN e i e |

vt w1 e £, 9. 9. SHTw! AT AR 919 QA1RT
aldT

6 I (ST IG T R | e

@ SRR e

(3) fioe e3q 91 BYEF

@ o Seive Wtee

e Seg SCPME (HFad TLae! ArTee] SRFT
TR S & e B SR (TG, 2R SRR

O TR S e e e 3aw S
YT A I -

@ 3T T SHEHF |

@) WEH IRASIE e 3FE AREH! TR
g | .

@ 5T SrorgedT I A |
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117. Which of the following statements is incorrect ?

118.

119.

() Prions {:-:msmt of abnorma]ly folded proteins.

@  Viroidslacka protein coat. '

(3)  Viruses are obligate parasﬂ:es,

@  Infective constituent invirusesis the protein
coat.

Which of the following statements is correct ?

(1)  Cornea consists of dense matrix of collagen
and is the most sensitive portion of the eye.

(2)  Cornea is an external, transparent and

protective proteinacious covering of ‘the
eye-ball.

(@)  Cornea consists of dense connective tissue
of elastin and can repair itself.

(@)  Cornea is convex, transparent layer which
15 highly vascularised.

Match the Column - I with Column - II :

Column - I Column-II
@ P-wave @  Depolarisation of
ventricles
B QRS complex (@)  Repolarisation of
ventricles
¢ T-wave (i) Coronary
1schemia
(d  Reductioninthe (iv) Depolarisation of
size of T - wave  atria
(v)  Repolarisation of
atria
Select the correct option.

@ ® © @

O @ @ » v

120.

@ w0 @ @

@ W @& @
@ @ & ® @

In a species, the weight of newborn ranges from
2 to 5 kg. 97% of the newborn with an average
weight between 3 to 3.3 kg survive whereas 99%
of the infants born with weights from 2 to 2.5 kg
or 4.5t0 5 kg die. Which type of selection process
is taking place ?

oy Cyclical Selection

2y  Directional Selection
(3)  Stabilizing Selection
4)  Disruptive Selection

26
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117, faetafis @mor Sfe oram ¢

118,

119,

120.

O RS R e S Bt IRt o' fia
BT A5 |

@ folawis mpe o fba smma e |

@ oXE R EREE TS |

@) TSIEIRF ([T AT SAWIT ' o T

BRI | -

©EE (IO SR w7

1) TR FACSHT TS FHTEIRE (matrix)
WWEWWWﬂWWI

@ TR T BFOITFT (eye-ball) Tfiaw It
QF TR WE 4’ o sifde dfsestas
I |

@ I EiEaT O sieiew e afve wie
% 0w focst oremwfs af¥gang 1

@ s tarm 92 3@ SRR 0w (highly
vascularised) Q0BT &ge IR 7 |

W%@-IW@-IIama_wﬁﬂmW:
53 -1 -1

@ P-wv3l @ fyeomeReg

G DCT )
©) QRSY* (1) faormm sReg

(© T-©38 i) FFCF Ao
@ T-T3¥F Gv) Ifr~Eieq
SIFE ST FRBIRAFAT
W) ST e
SBREHI

O gt aify Sfsat

@ b © @@
O @ @ &
@ G @O @ i
@ & O @
@ @ @O & G
qbr 2efoT Faoioss oow (0% 2 T °R/1 5 ke |
3 - 3.3’ kg ST AT TATICT 97% Frow Sk

AF TS ‘2 - 2.5” kg G&F T 4.5 - 5 kg

SET YT TTSTEFT 99% PRIz Ty 27 | Bt (@
o1eY (B 2feat she 9

() oS (Cyclical Selection)

(2 i I5T (Directional Selection)

@  JRET 5T (Stabilizing Selection)

@ Rfes e (Disruptive Selection)
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121. Which of the following is true for Golden rice ?

ey

2)

3

4)

It has yellow grains, because of a gene
introduced from a primitive variety of rice.

It is Vitamin A enriched, with a gene from

daffodil.

It is pest resistant, with a gene from
Bacillus thuringiensts.

It is drought tolerant, developed using
Agrobacterium vector.

122. Match the following organisms with the products

@

123.

they produce :
(@) Lactobacillus i)  Cheese
(b) Sacc?}c{;‘qmyces (i} Curd
cerevisiae
©  Aspergillus niger (i) Citric Acid
. Aceﬁbaéter acett (iv) Bread
)  Acetic Acid
Select the correct option.
@ b @ @@
G @ @ @ ©
@ W W @
@ W G @
@ W w @
Match Column - I with Column - II.
Column - I Column - 11
(a) Saprophyte () Symbiotic association of
fungi with plant roots
(b) Parasite (i) Decompositionofdead
organic materials.
(¢ Lichens (iit) Living on living plantsor
animals -
(d) Mycorrhiza (iv) Symbiotic association of
algae and fungi
_Choose the correct answer from the options given
below :
@ b ©© @
@ @ @ G @
@ @ G @) G
@ @ @ O @
@ @ @ @ G

27

R5
121, CIIHIET 4197 A AT 7657 |
(L) 419 =i oaie R affa awet a6k geiiar
o=y
@ 2 orioas fag ot sy febifim A |
@ @ YRIRIiey Ot foas @t
st et |
@) @ ErPREY (S8 TR TR YIRS
S 8 AL |

122, TER SRR w150 Piags SR 391 2awnyz et :

(@  Lactobacillus G O
(cheese)
®  Saccharomyces G)
cerevisiae
(©  Aspergillus niger i) EGT
«Gf5w
(d  Acetobacter aceti Gv) SISSo
) «fsite
)i
o Rl IS SiTear |
@ b @@ @
@O @ O @ o
@ W G & G
3 @ (v Gi) o
@ (@ v = @
123. 38 -19 Oice 38 - 11 fieniar :
35-1 Bg-11
(a) H@éﬁ @ WWWC@E
S SrEifrer
) =S i) TS IS AT A5
¢ oI (i) Sifds SfgwarEr g
| GFTE SR IF
@ TEFTEST  Gv) ORI P (SFRT
SETCHI i) M

o Pl (e <1<t W% Suao! b Sfevsan

@D
2
6
@

(@ (b)) (© @
@ @ @ O

O @ @
(i) @ & @
i @ @ @

T
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124.

1256.

126.

127,

128.

Which of the following pair of organelles does not
contain DNA ?

(1)  Nuclear envelope and Mitochondria
(2)  Mitochondria and Lysosomes
(3)  Chloroplast and Vacuoles

4y  Lysosomes and Vacuoles

Consider the following statements:

(A) Coenzyme or metal ion thatis ti_ghtly bound
to enzyme protein is called prosthetic group.
(B) A complete catalytic active enzyme with its

bound prosthetic group is called apoenzyme.
Select the correct option.,
(1)  (A)is false but (B) is true.
2y Both (A) and (B) are true.
3)  (A)is true but (B) is false.
@  Both (A) and (B) are false.

Conversion of glucose to glucose-6-phosphate, the
first irreversible reaction of glycolysis, is catalyzed
by :

(1)  Phosphofructokinase
(2)  Aldolase

(8) Hexokinase

4)  Enolase
Concanavalin Ais:

(1) apigment
(2) analkaload
(3} anessentialoil

4 alectin

Which of the following contraceptive methods do
involve a role of hormone ? '

(1)  Pills, Emergency contraceptives, Barrier
methods

(2)  Lactational amenorrhea, Pills, Emergency
contraceptives

(3)  Barrier method, Lactational amenorrhea,
Pills

(4)  CuT, Pills, Emergency contraceptives

124,

125,

126,

127.

128,
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O (T SIS § DNA TS ?
(1) " S (nuclear envelope) I
LIEEETR:z)
@  WRPwrE o ARy ey
@ TR RiFe
@ =EpSeT Ot it

fifeits Shess e o :

(A) E-SeOTES It YTod WIEF Rst S-ems
o fBeE TT91S GRS A1 1R A0S ©FF ATHBF
569 (JICET |

ATEDT 5591 o150 SIS (& I QBT 7o S
T STy SRETERS GASRETSE (apoenzyme)
[SICRE

uw, RegoT i Shnear |

@A) ToT R B) 9T |

2y (A= (B) mﬁi‘ 1078 ¥ |

®  W3ERE @) sow|

@ (A)SF (B) 703 % |

a5 iy wivdleyd RfFat 45w
I T-6-T RO BT TS Ol (FIFY
ST I BI 7

O LI AT

2y OGS

(B)

@ TS
4) GOFETS
SRATST AT -
O 9RgIEF

@ iy Gorww
@  «fyy Gt o
@ oty =

T (I TSI oA A S I 7

O 3, S=diwifed sofEs, dfoaws Aals

@ evRiTeE, s, SRl s

® 4fsams d=fs, sarsafy FwHEe
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Match the following organisms with their

29

129,
- respective characteristics :
@  Pla : () Flame cells
) Bombyx - i) Comb plates
(¢)  Pleurobrachia (iii} Radula
d) Taenia (v) Malpighian
tubules
Select the correct option from the following :
@ ® © @
O @ @ @ 6
@ @ @ O @
@ @ v @ @
@ @ v ¢h @
130. Which of the following features of genetic code does
allow bacteria to produce human insulin by
recombinant DNA technology ?
(). Genetic code is specific
(2)  Genetic code is not ambiguous
(3)  Genetic code is redundant
4 Geneticcodeis nearly universal
131. How does steroid hormone influence the cellular
activities ? _ o
() Using aquaporin channels as second
messenger.

(2) Changing the permeability of the cell
membrane.

{3) Binding to DNA and forming a
gene-hormone complex.

(4  -Activating cyclic AMP located on the cell
membrane.

132. Which of the following ecological pyramids is
generally inverted ? |
()" Pyramid of biomassinasea
2  Pyramid of numbers in grassland
(3)  Pyramid of energy
(4)  Pyramid of biomass in a forest

133. Xylem translocates:

(1)  Water, mineral salts, some organic nitrogen
and hormones

2)  Water only

3)  Water and mineral salts only

@  Water, mineral salts and some organic
nitrogen only

129,

130.

131

132.

133.

R5
©eTs [FAT Sig S1iyRg w1sts PrRew ity smg ficerat -
@ e © P
(Flame cells)

b R @) ot o
{Comb plates)

© e (i) Tt

(Pleurobrachia)

& o | (v) wEPRES
FeArst

a R ik Sferear |

@ b ©

O G G @ O

@ @@ @ @ G

@ @ v @ @

@ @ Gv 3{) @

©aF (BT AT ATes @R & @t
“sFeIEieTS DNA 2gfea’ WiNg &Apler Seoty
T McF?

() fslEsees fAng )

@ RRsiee rdErRT T |

@ Toa werEes v pifs 3t ofsew sy |
@) R IEes A TSRS A |

Rack

() Pl IRSRTEs fipie garaifis Serrar e
(aquapéri’xi' channels) TR HF |

2) THRIIR ool ARG F |

(3  DNA T 71918 TF (R W< f5H-2'9737 Y91
(complex) 5157 FF |

@) TTFIEEETS IF 5T AMP F ey i |

fAeforiis RS oifie Patfites @i TeRTs
Q0T ? '

O o ey Plarfrs

@  TorghE ey Praifirg

3. s Pafe

@ TR Slaes Prifig

STRLET “ifSasst 337

(1) o, e e, Regui tow 7185 oo Wi
I

(2) SN T

8) 1Y T YT age T

@ o1, IS T o e (o ARG (o

HITA

T
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134,

135,

136.

137.

‘Which of the following factors is resp{i'ﬂéiblé for
the formation of concentrated urine ?

(1) Hydrostatic pressure durmg gl-:nmerular
filtration. .

() Low levels of antidiuretic hormone..

(3)  Maintaining hyperosmolarity towards inner
medullary interstitium in the kidneys.

(4 Secretion of erythropoietin by

Juxtaglomerular complex.

What would be the heart rate of a person if the

cardiac outputis 5 L, blood volume in the ventricles
at-the end of diastole is 100 mL and at the end of
ventricular systole 18 50 mL ? ¢

(1) 125 beats per minute
2 50 beats per minute
3 75 beats per minute®
(4) 100 beats per minute

A copper rod of 88 cm and an aluminium rod of
unknown length have thelr increase in length
independent of increase in temperature. The length
of aluminium rod is : {ag,=1.7%x 1078 K~1 and
ayy=22x10"5K"1 o

1) 68cm-
2 6.8cm
3) 113.9cm
4 8Bcm

Two parallel infinite. line chargés with linear
charge densities + A C/m and —\ C/m are placed
at a distance of 2R in free space. What is the
electric field mid-way between the two line
charges ? '

A

N/C
D ZreR
(2) zero
- 2A
3) = N/C
{
(4) g1 EﬂR N C

30

134,

135.

136.

137,

(@

|Eng1ish+ﬂssama§a]

W@ﬂtﬁrmamww@zwm?

KON & I ﬂﬁ'ﬂmw Fm?i_ wﬁaf— 5o
1{hydrustatm pre:ssure)l Y
@ O uIRSrEtE 53w AT Tiar #9 |
(3 I @ Tl el Ie (inner medullary
interstitium} ﬁ%ﬁﬁﬁiﬁ ?lﬁﬁ ER B
(4)  TEGI IR L0 (complex)y AR ARIBA
eIV |

qwm TR afi e et S SR 4T (o
SITSA (cardia¢ output) 5 L, GhEE oo
ReTEatie Y3 (GoE ST 100 mL S foermm
FAFIBAY (systole) TNTE (OBF IS 50 1L =,

(G Bieeg = B ﬁmﬂ :v: 21’ ?

oy Aifs fifiSe 125 1

@ sfe fif90s 50317 (beats) -

@ dfsRiNGe 75917 {
@ ofs fifacs 100317

88 cm AT QT BN 7Y SIF ASAT O
QF TN 73 qOIEE 4 rbewe! g 89198
frds 7 | e nopeR. (R 7790

(o, =1.7x10 5K loie
ay=2.2X1078K Y

(1) ©68cm
(2) 6.8cm

3 113.9cm

4 88cm

+\ Clm O11F —\ C/m (IS, ST T8I O
Wwﬁnmww’ﬁwmw
Bo 2R 7394 WWE@EI 7R TTel Sl

@I e T s @piew oFa A1ees R 2

A

N/C
) 2‘1‘I’EﬂR
T
o
&) = N/C
5
@ N
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138,

139.

140.

141.

142,

' Two particles A and B are moving in uniform

circular motion. in concentric circles of radii
1 and rp with speed v, and vg respectively. Their
time period of rotation is the same. The ratio of
angtlar speed of A to that of B will be :

H 1:1

@ rpirp
@3 vyt UB
(4) rpira

The digplacement of a particle executing simple
harmonic motion is given by

y=Ag+ A sinot+ B coswt.
Then the amplitude of its oscillation is given by :
(h A+B

@ Ay + JA? + B?
@  JAZ + B2

@ A2 +(A+B)>

In which of the following processes, heat is neither
absorbed nor released by a system ?

(1) isochoric
(2)  isothermal
(3) adiabatic

(4)  1sobaric

Increase in temperature of a gas filled in a container
would lead to:

(1)  decrease in intermolecular distance

(2) increase inits mass

(3)  increase inits kinetic energy

(4)  decrease in its pressure

For a p-type semiconduictor, which of the following
statements is true ?

(1) Electrons are the majority carriers and
pentavalent atoms are the dopants.

(2) Electrons are the majority carriers and
trivalent atoms are the dopants.

(3)  Holesare the majority carriers and trivalent
atoms are the dopants. '

(4) Holes are the majority carriers and
pentavalent atoms are the dopants.

31

138.

139,

140,

141.

142,

Rb5
AT BB SN TFW r, SN vy IANES T 0P
TES FW v, BF v Fﬁéﬁﬁﬁﬂq@ﬂﬁﬁﬁﬁm |
Prio I fimleT €iF | A O B 3 @i whea
RS

(O 1:1

@ rpirg
B uvy:vp
4 rp:ry

NI (ERIT S T QB FF TFeg g a1k
58 y=Ag+A sinot+3B coswt! (SReAT (ISTHGE
IEGIEEAC R

() A+B

@  Ag +VAZ + B2
®  JA? + B2

@ A2 +(A+B)?

s ot Afirgte bt feiae qiat e ez
2% Wi o @i e =g 2

(1) TTEESES
@ ST

@ FEor

(@) s

QBT “iTTs IFT QBT (5%g Sl oI
ey
@ WHSRIWT)
@) EafsiEans |
(4) FHTE HT |

SABLIIT 4G FA |

p-Gi%e SLATRIE «BIF 3@ ©o7 @At Sfie
uy 7

(1) SToTE U5 TR I STBTARST e (ST |
@ I AL RS Sl farsti e (St |
@ o s IS o farr&T ofe (G |
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collegedunia:s

India’s largest Student Review Platform

sh

T



R&
143. Body A of mass 4m moving with speed u collides

144.

145.

146,

147,

32

with another body B of mass 2m, at rest. The
collision is head on and elastic in nature. After
the collision the fraction of energy lost by the
colliding body Ais:

5
1 9
1
@ 3
8
@ 3
4
4 9

Which of the following acts as a cireuit protection
device ? .

(1) fuse

(2) conductor

(8  inductor

4) switch

a-particle consists of :

()  2protons only

(2) 2 protons and 2 neutrons only

(3 2electrons, 2 protons and 2 neutrons
(4)  2electrons and 4 protons only

In total internal reflection when the angle of
incidence is equal to the critical angle for the pair
of media in contact, what will be angle of
refraction ?

(1) 90

@ 18

@

4  equal to angle of incidence

A mass m is attached to a thin wire and whirled
in a vertical circle. The wire is most likely to break
when '

(1)  inclined at an angle of 60° from veitical
(@) the massis at the highest point

(8)  the wire is horizontal

4)  the massis at the lowest point

143.

144.

145.

146.

147.

[English+Assamiese]

1 TS 5ifs TR AT 4m’ ©IF QD13 A 7 Fim s
JF ‘2m’ TIF S QU1 I§ B 7 T1905 TS 7H |
SEIISLO AT o1 Ffewyo1as aigisT | eaod Pres

A TEBIT @NFE &9 TReT Bt 27
5}
(1) 3
1
@ 3
8
(3) 9
4
(4) 9

e @EEE Ripe 3631T T Toq B I

T ?

1) o

@ sAfsad

@

@ =B

- YIF

O 20reb g

@ 200 &5 T 251 fAShH uig

() 20t 3rege, 201 o G o= 20 NG
(4) 20 T8 =T 451 B Wi

syef TeRERe dfoReeT (v aTfout Seife i,
ST+ ABT NI YOIT PO (0T ST &7 et afera
@ T 7’77

1 9

2 180°

@

@ Iriies @ s

‘W T Bt GTreT B ST TS At T LR
S QDT SofF 8 LT $R0E | BIF Wl Y IO
&l 719 cafsat ;-

) O T Sar frg dsto 60° e ARt
=) -

@ IO Re e o |

@ Ol T SR NE T |
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148. The radius of circle, the period of revolution, initial | 148, fbaGie Jecb TEME, CITT e, TIRE T
position and sense of revolution are indicated in : :
the fie: oi% gefaa et et smem

:}IJH

¥ - projection of the radius vector of rotating particle gi‘cﬁ% Tl P 3 375 (o8 3« SO T3 ;
Pis:
my o (D ﬂt) = 3cos| T TH y T 9FF
1 v =3cos 5 , where yin m g | IOy m
2) y({t)=—8cos2wt, where yinm 2 y(t)=-3cos2wt, TO T QTF m
md anf T - Tt
(3) yr =48 5 | where yin m ) () =4 sj_n[?l TS yT 9FF m

@ y®= 3‘3‘}3[%) where ¥ in m 3t o
2 ) (99 Yy =3cos 5 |, T TyILTm

149, o SR 149, 0 g;ﬁ ¥
& 4 —3LED (Y) Al _LED ¥)
/° =R 0 SR
B 1 i N B 1
The correct Boolean operation represented by the ISATOICE JCSTIal B I T 2T -
‘circuit diagram drawn is :
1 NOR (1) NOR
@ AND (&) AND
3 OR 3 OR
4 NAND 4y NAND
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150.

151.

152,

153.

2
{3 1:
2

34

Two similar thin equi-convex lenses, of focal length
f each, are kept coaxially in contact with each other
such that the focal length of the combination is
F;.. When the space between the two lenses is

filled with glycerin (which has the same refractive
index (u.= 1.5) as that of glass) then the equivalent

focal length is Fy. The ratio Fy : Fo will be :
1 3:4
@

O bSO e

“

At a point A on the earth’s surface the angle of

dip, 5= +25°. Atapoint Bonthe earth’s gurfac.e

the angle of dip, = —25°. We can interpreét

that : - N

(1) A and B are both located in the southern
hemisphere.

(2) A and B are both located in the northern
hemisphere.

3)  Ajislocated in the southern heinisphere and
B is located in the nerthern hemigphere.

()  Aislocated in the northern hemisphere and
B is located in the southern hemisphere.

A particle moving with velocity ?‘is acted by three
forces shown by the vector triangle PQR. The
velocity of the particle will :

&

li

R Q

(1)  change according to the smallest force ﬁ
(2) increase
(3) decrease

(@) remainconstant

The total energy of an electron in an atom in an
orbitis — 3.4 eV. Its kinetic and potential energies
are, respectively :

(1) 3.4eV,3.4eV

2y —3.4eV,-34eV
@ —8.4eV, -68eV
4 3.4eV, —6.8eV

150.

151,

162.

153.

lEninsh-i%jﬁssam_EﬁE!

ATSTFLT [ T P17 (39 AT FATA SATSH.
ST -GgeT (T S -S(Fe e i 94T 030y Tite
(=71 YO0 /367 s Fy 29 | font ke wiew

AT 51 Brsifacace sof o1 57, I19 Afevmier $159

TS ATF (= 1.5), (BT TEeTs 3 FIR (7 77

1 3:4
@ 2:1
@ 1:2
@ 2:3

sifE o1 A R S ot 5= +25° | AT ob7
B fa7 afs e 3=~ 25° | iy Bras =1t sttcan
I

(1) AT B R0 oiomds @5 |

@  AwIE B R Sea oiferds @ik |
@ AR el e B S3 CieTs S |
@ AT (TSSO B AR (TS SRS |

v @ots oifs 3 3wt st 9B eofws ot 3
PQR 1533 fagsiire yeald s et s | e
@RI

'P.
{

R Q

(1) TOSS IE I QR T TR |
@ iR

@

@ T AT ST |

QBT (N7 OBT FHIYe 4 REgT 4O 75 e
—3.4¢eV | 2F afeifs sne fforfs wm

(1) 3.4eV,34eV

(2) —38.4eV, —3.4eV

() —38.4eV,—-6.8eV

@ 34eV, -68eV
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154. - A 800 turn coil of effective area 0.05 m2 is kept

155.

156.

perpendicular to a magnetic field 5X 1075 T,

‘When the plane of the coil is rotated by 90° around

any of its coplanar axis in 0.1 s, the emf induced

in the coil will be :

5 b
@ 2V

@ 02V

4 2x1078V

When a block of mass M is suspended by a long

wire of length L, the length of the wire becomes

(L + 0. The elastic potential energy stored in the
extended wire is:

LI Lt
2y Mgl
3 MgL
@) L Agl

2

Six similar bulbs are connected as shown in the
figure with a DC source of emf E, and zero internal
resistance.

The ratio of power consumption by the bu_lbs'when
(i) all are glowing and (ii) in the situation when
two from section A and one from section B are
clowing, will be :

AT TR
[
L
LT
1]

@ 2:1

@ 4:9

3 9:4

@ 1:2

35

154.

155.

156.

R5
800 11 FRATT ST 0.05 m2 HoE T FOA
GBY 5 X 10~ 57T EFF 0Fa Q4T 7S sHSIca 941
(et ARoAT GG Foet 21T RHHr «ie
TGS SFFE AT 0.1 8 0TS 90° LT 7,
@%EJT?@%TEWIE @@T%Q BIET% 361 {(emf)
79!

1 002V

@ 2V

® 02V

@ 2x1073V

L twefiq Ret $17 @uierd M was 8 @bt cafont
SIS PEle, T Tles oy (L+ ) ' | #1ifas

BT TieTe S AT e fafeTRes s

76 :

o LML
(D 5 Me
@ Mg
(3 MgL
» L Mgl
@ 5 Ms

f5are (ST T TDT I QBT N SRS i B
3R B1eTe IeT9 A9 47158 DC Be5F #15fe 4etel
T CaT |

FFI1IT 79T 4TE (@A FH0IF NSE SIS Thoz!
(i) STt T ST S (i) 70T I A 1T >[N
QBT 91 B *1Y1F 141 weit SEs

A
A

3 3 3w

@
@
@
CY

— W R DD
b e D

-
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157.

158.

159.

160.

Ionized hydrogen atoms and a-particles with same
momenta enters perpendicular to a constant
magnetic field, B. The ratio of their radii of their
paths rg:r, will be :

®» 1:4
@ 2:1
@ 1:2
@ 4:1

A small hole of area of cross-section 2 mm? is
present near the bottom of a fully filled open tank
of height 2 m. Taking g= 10 m/s?, the rate of flow
of water through the open hole would be nearly :

1) 8.4x10-%m3s
@)  12.6%x 10" 5m3s
(3) 8.9x10-6m¥s

@ 228x10-6md/s

A body weighs 200 N on the surface of the earth.
How much will it weigh half way down to the centre
of the earth ?

{1 100N
@ 150N
(3 200N
@ 250N

Pick the wrong answer in the context with
rainbow,

(1)  Rainbow is a combined effect of dispersion,
refraction and reflection of sunlight.

(2)  When the light rays undergo two internal
reflections in a water drop, a secondary
rainbow is formed.

(3) The order of colours is reversed in the
secondary rainbow.

(4)  Anobserver can see a rainbow when his front
is towards the sun.

157,

158,

159.

160..

|English+Assamess|

QT BIWSIRX FIATS TG’ (ST A HIF

o] STESITE Q4 A (51 (g B S 403 0% |

PrATT T TS TS ryy: 1, 7T :

M 1:4
@ 2:1
@ 1:2
@ 4:1

o m BEwElE OBl (Bewq ofbT BE] i3S
2 mm? RS PITS 5T 0T B ST S (G
AT 5T ©fS N 847 7P Y (% SR
g =10 m/s2 77" TeT, THOIT SoT 4T AT “Afmer
PIEN -

(1) 6.4x10 8%md/s

2 12.6x10-%m3/s

B 89x10 %m3s

@ 223x10 5m?s

SIS s BT 78T S 200 N | “Rife @Ete

RS YT TEAge 20E ST FHF 2°3 7

(1 100N
@ 150N
@ 200N
@ 250N

IMUFT CFa® B A BeF Jug ©IF I
Sferedr

() T R RGR ot e, i s
AfsTera oieedm dfFar) -

@ afet cﬂﬁawﬁmtmﬁmﬁacﬁmmw

e dfsTwe TB,  ohedt wiF Aoy
LT AT =T |

@) TSR 4= INCHTE T SE ST e AT |

@ W QST TR P el B (EIR SN AN
(AT 911 ST |
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[English+Assamese]

161. A cylindrical conductor of radius R is carrying a

162.

163.

constant current. The plot of the magnitude of
the magnetic ﬁeld, B with the distance, d, from
the centre of the conductor, is correctly

represented by the figure ;
B /i
(1)
R4
B '
I AN
R 4
B
@
R d
B

@

R g

Aforce F=20+ 10yactsona particle in y-direction
where F is in newton and y in meter. Work done
by this force to move the particle from
y=0toy=lmis:

L 209
@ 304
@ 54

@ 253

The speed of a swimmer in still water is 20 m/s.
The speed of river water is 10 m/s and is flowing
due east. Ifhe is standing on the south bank and
wishes to cross the river along the shortest path,
the angle at which he should make his strokes
w.r.t. north is given by :

(D 45°west
2 30°west
® o

4  60°west

37

161.

162,

163.

RS

RIPIT orer perphsn stfmifier sgan (Rm) fge

ARITA PRGN | (BIEF o5 ‘B’ T I Sl A0S
OIeT O 7191 79 ‘D’ WIST (@19 BAF @At e
A3 Tona THRCR ?

B \
0 g
R d
B [l
@ l‘\
R d
B
(3)
R 4
B F
4 i
R 4

F' =204+ 10y 3T OO 3 QBT 847® y- vt far
T @Iy TS F 180T i y g OFFG SICE |
ﬂ?aﬁﬁwmmy=_ﬂﬁ'ﬁ1‘y= 1 m I BABES

IR =T BT ARt 777
O 204

2 30J

@ 54

4 25J

R oIS T ATS ey @ 20 m/s | Jawicet 23
3T T4t @biF AT T 10 m/s 1 a5 TiRE
RS R 07 AT St BT 57 i afe
T 23 Reyfacer, Seg fet sieoies & @as o

'SP (stroke) SRaLeT Rgrfig anifdia -
D) 45° 4760 Fiter

@  30° ey T

@ o

@  60° +Poy T

T
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164.

165.

166.

167.

38
In-a double slit experiment, when light of
wavelength 400 nm was used, the angular width
of the first minima formed on a screen placed 1 m
away, was found to be 0.2°. What will be the
angular width of the first minima, if the entire
experimental apparatus is immersed in water ?
("Lwater =4/ 3)

M or
@  0.266°
@ 015
4 005°

Average velocity of a particle executing SHM in
one complete vibration is :

(1) zero
Aw
2 —
@) Aw
AgZ
@ 5

In an experiment, the percentage of error occurred
in the measurement of physical quantities A, B, C
and D are 1%, 2%, 3% and 4% respectively. Then
the maximum percentagé of error in the

A2 B/
measurement X, where X = , will be :
¢/ DP
O 10%
3 Y,
— | %
o (2
(3 16%
@  —10%

Which colour of ‘the light has the longest
wavelength ?

(1) violet"
@ red
3  blue
(4)  green

164,

165.

166.

167.

1English+hssarﬁesEE
Bt - s +2Ts, ARSAT 400 nm Bae T
(5157 TART TS 1 m TGS T 4TS ST (=4
st ST AAfbT Qs @ 0.2° TN CsifeT | 2
(SITCBR ARG JReCDt e vy fan =,
CERETT 2w e AGOE Wl 8 Fma s 7
(B oater = 4/3)

1 01°
@ 0.266°
3 0.15°
@ 005

Bt spapef (rteTes e (reTRRT oifs (SHM) 19 ¥t
T GBI T @ T :

@

. Aw

2) 5

B Aw
mﬂ

@ =5

Bt #7srs A, B, C 301® D telfies PR S1947S
=I5 AT TGS TSI FW 1%, 2%, 3% BT 4% |

X = A" B %7 (o1 X 9 91910 (R SR et I
¢/ D

T T R G R A I

O 10%

@ [1%)%

@  16%

@ —10%

TAIAR (PG TET BARATTHS SAHIERSCE [ 7

QO EefE

@ e

@ A

@ reEE
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189.

170..

171.

"

“A block of mass 10 kg is in contact against the

- inner wall of a hollow cylindrical drum of radius
1 m. The coefficient of friction between the block |
and the inner wall of the cylinder is.0.1. The |

minimum angular velocity needed for the cylinder

“to keep-the block stationary when the cylinder is
‘vertical ‘and rotating about its axis, will be :

(g = 10 m/s?)

1) 10wrad/s
2y 10 rad/s
10
3 —— radls
2

10rad/s

A parallel plate capacitor of capacit:iribé 20 wF is
being charged by a voltage source whose potential

1 changing at the rate of 3 V/s. The conduction |,

current through the connecting wires, and the

displacement current through the plates of the

capacitor, would be, regpectively :

(1)  =zero, zero

@ zero, 60 pA
3) 60 pA, 60 pA
4 60 A, zero

An electmn 1s. accelerated through a potential
difference of 16,000 V. Tts de Brnghe wavelength

is, (nearly) - (m, =9x10" 31 kg)

@ 12.2nm

@ 122x107¥m
@ 12.2x10712p
@ 122x10 " 14m

A hollow metal sphere of radius R is uniformly
charged. The electric field due to the sphere ata

distance r from the centre :
(1)  decreases as r increases for r < R and for
or> R

2 increases as r increases fﬂl‘ r < R and for
r>R

(3)  zeroasrincreases forr <R, decreasesasr
increases forr >R

(4)  zeroasrincreases for r < R, increases as ¥

Increases forr>R

39
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R5

10 kg ©IT T WOR 1 m [PTHIF QB e
FeiFioT gme fowaa crrers osie if 3 irg |

f' "Wﬁr‘r-w-mwvwﬂ‘q@m@ 0.11 cafsar
'-.iﬁaaﬂ%mﬁai‘a%wmﬁwwmw

169.

170,

171.-

2’37 (g=10 m/s?)

(1)) 10mwradls
@ V10 radfs
{3) 124% rad/s
4  10rad/g

éoﬁwwm—awmﬁrsmw

e STl 7 436t @Bt Grrhe ST Sifie Y U
v | TRCaAY Sia SRS WS ctat AR o
(conduction current) S7i¥ ﬁﬁﬂﬁﬁﬁfﬂ“@é‘ TiS® #1137
TR U1 (displacement current) '3 & (d ;

@, W

(2) "E5, 60 pA
(3 60 kA, 60 pA
@) 60 pA, W

"'ﬁﬂﬁr?&aﬁa 10,000 V &3 (o73 WITSHT g a1

tmi 8EiE o g’fér BaLsIoney I oia -
{(m, =9%x 103N kg)

@O 122nm

@ 122x10-1m
3 122x10"¥np
@ 12.2x10 " Ynpm

R TP%I BT A 4163 oo GBI SeTE
HIRS 1 02T | (FHT 4T ¢ IRGS (HHIeTHoH I
T I (Ao OFa 49

(1) =W FfeI @ INTG r < R o=
> R bt sifses a1 |

®@ ez afsm @ s r < R =
r>R AT IR |

@) 1T @S ¢ < R ARSI 9F hR
fsm x> R ~ifeoras v gia =1

@ 9w @fsar v I r < R Afvms e qifim
@RST Y r > R wfeerss s |

T
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172,

173.

174.

175.

176.

The work done to raise a mass m from the surface
of the earth to a height h, which is equal to the
radius of the earth, is

3 meR
@ mgR

3 2mgR
(4 % mgR

The unit of thermal conductivity is:

1 Wm 1K1
@ JmK-1
(3 Jm-1K-1
4 WmEK-!

In which of the following devices, the eddy current

effect is not used 7

(1)  electric heater

(2)  induction furnace

{3) magneticbraking in train
(4) electromagnet

A soap bubble, having radius of 1 mm, is blown

from a detergent solution having a surface tension

of 2.5 % 10~ 2 N/m. The pressure inside the bubble
equals at a point Z; below the free surface of water
in a container. Taking g=10 m/s?
density of water =10% kg/m?, the value of Zyis:

1) 05cm
Z) 100cm
(3) 10 cm
4 1cm

When an object ig shot from the bottom of a long-

smooth inclined plane kept at an angle 60° with
horizontal, it can travel a distance x; along the
plane. But when the inclination is decreased to
30° and the same object is shot with the same
velocity, it can travel x, distance. Then x; : x,
will be :

D 1:243
@ 1:42
@ J2:1
@ 1:43

40
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AR b7 7 ST TEEE T THST h 79T,

m ©F [RCe i4d TN FIH T
(1) % mgR
(2) mgR
(3) 2mgR
@ -;— mgR
S sifeaiteE 9T 59
(1) Wm-1K-1
2 JmK-!
3 Jm 1K1
4 WmEK-1
SIS (TGt wIfierd crae afs aamg dferm e
= 7
1) pfes &im
@ SRS pE |
(B e IQRITI BFF TP
@ fpepEe

1 mm FFET SN ghgn «@Bf 2.5 10~2 N/m
siBE fEBITs TR «1at Fif6 117 | FROOIF
fowee I MAT TF <D 7191 5716 I Z, s
SIS S | g= 10 m/s?, #1913 99 = 10% kg/m?,

Ziy I AT :
() 0.5cm
(2) 100 cm
3 10cm
(4} 1 cm

wgiie e @1sis 60° I 3 I3t Hwer fig
EFEART ©F QAT STTE oaT O I8 cafeRt iy
ATSSET T, T VAR x; TR A | 58 @hsTt o=
4TE (FI 30° T I I & I QT TS 9T
QUSRI SN x, 1A T | cofoa LT
xl:xg’i’ﬂ':

O 1:243
@  1:42
® V2:1
@ 1:43
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177. Two point charges A and B, having charges

+Q and —Q respectively, are placed at certain
distance apart and force acting between them is
F. If 25% charge of A is transferred to B, then
force between the charges becomes :

E
o
@ F

OF
3 T

16F
@ "9

178. A solid cylinder of mass 2 kg and radius 4 cm is

179.

180.

rotating about its axis at the rate of 3 ¥pm. The
torque required to stop after 2mr revolutions is ;

(1) 2x10Nm

2) 2x10~8Nm
B) 2x1073Nm
(49 12x10"4Nm

A disc of radius 2 m and mass 100 kg rolls on a
horizontal floor. Its centre of mass has speed of
20 cm/s. How much work is needed to stopit ?

O 14
@ 35
3 30kJ
@ 24

In the circuits shown below, the readings of the
voltmeters and the ammeters will be :

10 £} }51 10 Q ' ig
—0— & G @
X F
10V 10V
Circuit 1 Circuit 2

M Vy>V, and i, >,
@ V>V and i) =i,
@ V;=V, and i,>i,
@ V,=V; and i, =i,

-00o0-

41
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177. TN + QT — Q INYAYS G0 R py oiidia A o

178.

179.

180.

B 9T A8 mago 94t oy e oy wrow featfie
T X' F. | qf A T 25% =9 B oo ST 537,

(GRSAT ST FOIF WIST IeT 577 -
, AF
@ 3
@2 F
oF
@  1g
16F
@ 5

2 kg ©F9 SF 4 cm IPET Q51 cattBr frere g
SPRF SCATR 3 rpm R0 IR ®INR | 20051 g

B

(1) 2x10°Nm
(2 2x10"6Nm
(3 2x10°3Nm
4 12x1074Nm

2 m TEPIE SN 100 kg T Q247 F18 Q271 rgghines
SIS e | 3019 SIHT Bi5 20 cm/s | 5T
TYIFCeT 0T Fiefs i e 2

(1 1d
@ 84
@ 30kJ
@ 24

TFTS (MYBaT I61T IR & =BRIbe o1e «fitimg %
2T

10 £} I 10 ) lo
A > LA;-‘:’V
: ; 10 O _
o— ®
K K
10V 10V
IS 1 IS 2
O Vy>V oFi, >4,
@  Vy>VEE i =i,
@ V=V, i >

@ V1=V2Wil-_——iz

~-00o-
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Read carefully the following instructions: | gl facd*t &3 Y A G
1. Fach candidate must show on demand his/ | 1. FISE ST, ATSIP AT fasE dra
her Admit Card to the Invigilator. St (TSI FAIPBE
9 No candidate, without special permission ,
of the Superintendent or Invigilator, would 9. wIRIwE a1 FHArFET U SIS AR ¢, (PIC!
leave histher seat. st e oiP Wit 719 @R
3. The c_and'idates sh{?uld not leéve the o o B 8T ot s
Examination Hall without handing over :
their Answer Sheet to the Invigilator on ot Soifafs das Y3 WFT TFINE
duty and sign the Attendance Sheet {wice. aSrereT ASER AT S| T @IE i
C;s;s_ wht:ire a casnlilidate has ;mt signeﬁ St dier BofEfs Jas Sy 3T BT
the Attendance Sheet second time wi o ‘
be deemed not to have handed over the | R, (53 TTI-FIT Tl ﬁTﬂTﬁﬁ o aa
Answer Sheet and dealt with as an 2’ TP L SAH SHASTT Ffarg e 9@
unfair means case. 23
4 Use of Electronic/Manual Calculator i8
prohibited. 4. aﬁié,ﬁﬁs g7 sWHIeTo SIITE RIS Fiale
5 The candidates are governed by all Rules frat 77231
and Regulations of the examination with . —,
. . L 5 et AP, A9E 3 TowTe Tl
regard to their conduct 1 the Examination | | o
Hall. All cases of unfair means will be dealt T, AR ! T S (e e
with as per Rules and Regulations of this firs | STReE SPIR BT SaeEs B0 TS
SXEHIIgEION: friT R e RFRT SEEIT oI a1 2T
6. No part of the Test Booklet and Answer |
Sheet shall be detached under any 6. At oifafafets, ARE AfeTT TP ST
circumstances. ST (I ST A1 ©iel SfeaCe Pl T2
7 The candidates will write the Correct Test B oy e
Booklet Code as given in the Test Booklet/ k& PRI TR ] AREFTTT TIEOS Fraa
Answer Sheet in the Attendance Sheet. s W SAfERs s@s il
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